Manual de Instrucciones
Campanas Extractoras DQ-90

Bedienungsanleitung
Dunstabzugshauben DQ-90

Instructions Manual
Kitchen Hoods DQ-90

Manuel d’instructions
Hottes aspirantes DQ-90

Manual de Instrucoes
Exaustores DQ-90

OAHI'IEZ XPHXEQX
KAMINAAA TOIXOY DQ-90

Kullanim Kilavuzu
Davlumbaz DQ-90

leka

KUCHENTECHNIK



Estimado cliente:

Le felicitamos por su eleccién. Estamos
seguros que este aparato, moderno, funcional
y practico, construido con materiales de
primera calidad, ha de satisfacer plenamente
sus necesidades.

Lea todas las secciones de este MANUAL DE
INSTRUCCIONES antes de utilizar la
campana por primera vez, a fin de obtener el
maximo rendimiento del aparato y evitar
aquellas averias que pudieran derivarse de
un uso incorrecto, permitiéndole ademas
solucionar pequefios problemas.

Guarde este manual, le proporcionara
informacién util sobre su campana en todo
momento y facilitara el uso de la misma por
parte de otras personas.

Instrucciones de Seguridad

* Respete las disposiciones locales vigentes en
cuanto a instalaciones eléctricas domésticas y
evacuacion de gases.

» Compruebe que la tensién y frecuencia de la
red corresponden con las indicadas en la
etiqueta situada en el interior de la campana.

* Debe ser incorporado un medio de desconexion
de la red de alimentacion en la instalacion fija de
acuerdo a las reglamentaciones de instalacion.
NO SE PUEDE SUSTITUIR EL CABLE DE
ALIMENTACION, SALVO POR UN SERVICIO
TECNICO AUTORIZADO.

» Una vez instalada la campana asegurese de
que el cable de alimentacion a la red no esta en
contacto con aristas metalicas vivas.

« Evite conectar el aparato a conductos que se
utilicen para la evacuaciéon de humos originados
por una energia distinta a la eléctrica. p.ej:
calderas, chimeneas, etc.

* La habitacion debe estar provista de una
ventilacion adecuada si se va a utilizar la
campana simultaneamente con aparatos
alimentados por energia diferente a la eléctrica.
p. €j: cocinas a gas.

+ La acumulacién excesiva de grasa en la
campana y filtros metalicos origina riesgo de
incendio y goteo, es por ello necesario lavar el
interior de la campana y los filtros metalicos una
vez al mes como minimo.

* La parte inferior de la campana debe situarse

como minimo a 50 cm. de altura sobre
encimeras eléctricas y a 65 cm. en encimeras a
gas o mixtas. OBSERVE LAS INDICACIONES
MINIMAS DEL FABRICANTE DE LA
ENCIMERA.

Nunca deje los quemadores de gas encendidos
sin un recipiente que los cubra. La grasa
acumulada en los filtros puede gotear o
inflamarse por efecto del aumento de
temperatura.

Evite cocinar debajo de la campana si no estan
colocados los filtros metalicos, p.ej. mientras se
estan limpiando en el lavavajillas.

No estd permitido flamear debajo de la
campana.

Desconecte el aparato antes de realizar
cualquier manipulacién en su interior. p.ej
durante la limpieza o el mantenimiento.

Le recomendamos usar guantes y extremar la
precaucion cuando limpie el interior de la
campana.

Su campana esta destinada para el uso
doméstico y unicamente para la extraccién vy
purificacién de los gases provenientes de la
preparacién de alimentos. El empleo para otros
usos es bajo su responsabilidad y puede ser
peligroso. El fabricante no se responsabiliza de
los dafos originados por un uso indebido del
aparato.

Para cualquier reparacion debe dirigirse al
Servicio de Asistencia Técnica de TEKA mas
cercano, usando siempre repuestos originales.
Las reparaciones o modificaciones realizadas
por personal no cualificado pueden ocasionar
dafios al aparato o un mal funcionamiento,
poniendo en peligro su seguridad.

Este aparato cumple con la Directiva europea
2002/96/CE sobre aparatos eléctricos y
electronicos identificada como “Residuos de
Aparatos Eléctricos y Electronicos”. La directiva
proporciona el marco general valido en todo el
ambito de la Union Europea para la retirada y
reutilizacion de los residuos de los aparatos
eléctricos y electronicos, X .

Cuando la campana de cocina se ponga en fun-
cionamiento al mismo tiempo que otros aparatos
alimentados por una energia distinta de la
eléctrica, la salida de aire no debe ser superior
a 4Pa (4 x 10 bar).



Indice

Instrucciones de uso
Accionando el mando como se indica en la figura

Pagina podra controlar las funciones de la campana.
Descripcién del aparato 3 ARO¥_0@0
Instrucciones de uso 3 _
Display de Programa/
Limpieza y mantenimiento 4 Fotanclay Saturacion da fikros
Si algo no funciona 4 ~ Reinicio Saturacitn de Filtros
[¢) Temporizador
Dimensiones y Caracteristicas 4 &
uz
Accesorios suministrados 5 ©  Disminucién de velocidad
Instalacién 5 ®  Aumento de velocidad
" . N (@  Encendido-apagado

Filtros de carbdn activo 5

Para conseguir una mejor aspiraciéon le

recomendamos poner en funcionamiento la

campana unos minutos antes de cocinar para que

el flujo de aire sea continuo y estable al momento

Descripcién del aparato de aspirar los humos.

De igual modo, mantenga la campana funcionando

A Mando electrénico programador con ~ Unos minutos después de cocinar para el total

botones para luz y velocidades con

DISPLAY indicativos de funciona-
miento.
B Filtros metalicos.

C Lamparas - 20 W (G-4).
D, E Cubretubos, regulables en altura.

arrastre de humos y olores al exterior.
Proceda del modo siguiente:

Programacion tiempo de aspiracion

1) Encienda la campana y elija la velocidad
de aspiracion deseada.

2) Pulse en “Temporizador”. El “DISPLAY de
programa” comenzara a parpadear.

3) Escoja el tiempo de programacion deseado
pulsando en “Aumento y Disminucion de la
velocidad”. La variacion es de 5 en 5
minutos (Min. = 5 min., max. = 45 min.).

4) Una vez seleccionado el tiempo deseado,
vuelva a pulsar en “Temporizador” para
memorizar el programa.

5) La campana se apagara una vez
transcurrido el tiempo programado.

La velocidad intensiva “H” se selecciona soélo

manualmente y pasard a velocidad 2

transcurridos 10 min. aprox.

Indicador saturacion de filtros “F”
Cuando el indicador de saturacién de filtros
se encienda proceda a la limpieza de los
mismos. (Véase pag. 4, apdo. Limpieza de
filtros).

Una vez limpios, con la campana apagada,
pulse “Reinicio Saturacién de filtros” durante
mas de 3 segundos y el indicador se apagara.

3



Limpieza y Mantenimiento

Al realizar labores de Ilimpieza vy
mantenimiento aseglrese de cumplir las
Instrucciones de Seguridad indicadas en
la pagina 2.

Limpieza del cuerpo de la campana

e Si su campana es de acero inoxidable,
utilice limpiadores especializados para
este material siguiendo las instrucciones
del proveedor del producto.

* En ningun caso use estropajos metalicos
ni productos abrasivos o corrosivos.

e Seque la campana utilizando un pafo que
no desprenda pilosidades.

* No es aconsejable la utilizacién de
aparatos de limpieza por vapor para
realizar esta tarea.

Limpieza de Filtros Metalicos

Para extraer los filtros de sus alojamientos
haga una leve presion sobre los dispositivos
de enclavamiento y luego tire de ellos.

Los filtros metélicos se pueden limpiar
dejandolos en agua caliente y detergente
neutro hasta que se disuelva la grasa vy
después aclarando bajo el grifo o utilizando

productos especificos para grasa. También se

pueden limpiar en lavavajillas. En este caso,

es aconsejable colocarlos en posicion vertical
para evitar que se depositen restos de
comida sobre los mismos.

La limpieza en lavavajillas puede deteriorar la

superficie metalica (ennegreciéndola) sin que

esto afecte a su capacidad de retencién de
grasas.

Una vez limpios déjelos secar libremente y

posteriormente coléquelos en la campana.

Cambio de Luces

Fig. 2 (Pag. 31)

Proceda del modo siguiente:

+ Retire los filtros metalicos. Afloje los
tornillos (sin quitarlos) del limpiafacil (A),
desplacelo suavemente vy retirelo.

+ Desmonte los soportes (C) aflojando los
tornillos (B).

+ Cambie la lampara averiada/ fundida (D).
La potencia maxima de las lamparas es de
20 W (G-4).

* Vuelva a montar los soportes (C).

* Vuelva a montar el limpiafacil (A). Coloque
los filtros metalicos.

Si algo no funciona
Antes de llamar al Servicio Técnico haga las siguientes comprobaciones:

a la red.

Problema Posible causa Solucion
La campana no funciona. El cable de alimentacion de la Conecte el cable de alimentacion
campana no esta conectado alared.

No hay corriente en la red.

Asegurese de que la red tenga
corriente.

La campana no aspira lo
suficiente o vibra.

aire.

Filtros saturados de grasa.

Obstruccion en el conducto de salida de

Sustituya o limpie los filtros de
carbén activo y/o metalicos segin
sea el caso.

Elimine la obstruccion.

Las lamparas no iluminan.

Las lamparas estan fundidas.

Las lamparas estan flojas.

Sustituya las lamparas.

Apriete las lamparas.

Dimensiones y Caracteristicas

Vedse pag. 30.

TEKA INDUSTRIAL S.A., se reserva el derecho de introducir en sus aparatos las correcciones
que considere necesarias sin perjudicar sus caracteristicas esenciales.

4



Accesorios suministrados

Reduccién 150/ 120 mm.
Soportes para cubretubo.
Soportes pared.
Tornillos M4 x 12.
Tacos de sujecion (8 x 40).
Tirafondos (D5 x 45).
Tacos de sujecion (26 x 30).
Tirafondos (J4 x 30).
Arandelas (06,4 x ©18).
Arandelas (96,4 x @12).
Tornillos (23,9 x 13).
Grapas tuerca.

Instalacién

ST \C T\ B\ B S 2 B @ > B N \© B \C R

Al instalar la campana asegurese de
cumplir las Instrucciones de Seguridad
indicadas en la pagina 2.

Para obtener un rendimiento Optimo el
conducto al exterior no debera ser superior a
CUATRO METROS, tener mas de dos angulos
de 90°, y su diametro debe ser al menos @120.
Fig. 1a (Pag. 31)

1) Trace y taladre en la pared los puntos para
fijar los tacos de sujecion (P) (98 x 40), (J)y E
(96 x 30).

2) Atornille los soportes (O) a la pared con los
tirafondos (Q) (@5 x 45) y los soportes (H) y
(C) con los tirafondos (1) y (D) (@4 x 30).

Fig. 1b (Pag. 31)

3) Coloque las grapas (F) en el soporte (C).
4) Retire los filtros metalicos. Afloje los tornillos
(sin quitarlos) del limpiafacil (A19), desplacelo
suavemente y retirelo.

5) Cuelgue la campana en los soportes
montados (O). Nivele el aparato apretando los
tornillos (L) (M4 x 12), segun detalle de la fig. 1b.
6) Trace la situacién de los tacos de seguridad
(R) (@8 x 40) a través del interior de la
campana.

7) Taladre la pared y coloque los tacos (R) (98
x 40) y apriete los tirafondos (S) (5 x 45) con
las arandelas (T) (6,4 x &18).

8) Coloque la pieza (B) si el tubo interior (no
suministrado) es @120.

9) Fije el tubo interior con una abrazadera (no
suministrada) a (B) o a la salida del motor
segun sea el caso.

10) Afloje los tornillos (U) (M4 x 25) del
cubretubo inferior. Una vez colocado el tubo
interior, monte los cubretubos fijando el
inferior en el soporte (H), segun detalle de la
fig. 1b.

11) Fije el cubretubo inferior con los tornillos
(U) (M4 x 25) a través del interior de la
campana. Eleve y fije el cubretubo superior
con los tornillos (G) (3,9 x 13).

12) Vuelva a montar el limpiafacil (A19).
Coloque los filtros metalicos.

Filtros de Carbén Activo (Opcional)

Cuando no sea posible la evacuacion de gases
al exterior, la campana puede configurarse
para purificar el aire recirculandolo a través de
filtros de carbdn activo.

La duracion de los filtros de carbén activo es
de tres a seis meses, dependiendo de las
condiciones particulares de uso. Estos filtros
no son lavables ni regenerables. Una vez
agotada su vida util deberan reemplazarse.
Fig. 3 (Pag. 31)

1) Retire los filiros metdlicos. Afloje los tornillos
(sin quitarlos) del limpiafacil (K), desplacelo
suavemente y retirelo.

2) Retire los tornillos (U) (M4 x 25) y los
cubretubos (H). Coloque las tuercas-soporte
(G) en el difusor (C).

3) Coloque el difusor (C) en el interior del
cubretubo inferior (H) con los tornillos (D) (M4
x 12). Vuelva a colocar los cubretubos (H) con
los tornillos (U) (M4 x 25).

4) Situe los filtros en la seccidn lateral de
aspiraciéon del motor haciendo coincidir los
orificios de los filtros (A) con los pivotes (B) de
la carcasa del motor. Gire en el sentido que se
indica en la figura.

5) Vuelva a montar el limpiafacil (K). Coloque
los filtros metalicos.



Sehr geehrte Kundin, sehr geehrter Kunde,

Wir méchten Ihnen zu lhrer Wahl gratulieren.
Wir sind Uberzeugt, dass dieses moderne,
funktionelle und praktische Geréat, das aus
hochwertigem Material hergestellt wurde,
Ihren Ansprichen voll gerecht wird.

Bitte lesen Sie die Bedienungsanleitung
sorgféltig, bevor Sie die Dunstabzugshaube in
Gebrauch nehmen, damit Sie das Gerat
optimal nutzen und Schaden vermeiden, die
durch unsachgemasse Handhabung auftreten
kobnnen; auch finden Sie Hinweise, um
kleinere Probleme  selbst beheben zu
kénnen.

Bitte bewahren Sie diese Gebrauchs-
anweisung auf, damit Sie jederzeit nitzliche
Informationen zu lhrer Dunstabzugshaube
nachschlagen kénnen und auch andere
Personen das Gerat mihelos bedienen
kénnen.

Sicherheitshinweise

+ Beachten Sie die geltenden ortlichen
Bestimmungen bezuglich der Installation von
elektrischen Haushaltsgeraten und
Entliftungseinrichtungen.

+ Versichern Sie sich, dass die Spannung und
Frequenz des Stromnetzes mit den Angaben auf
dem Aufkleber im Innern der
Dunstabzugshaube ubereinstimmen.

* Zur Trennung der Haube vom Stromnetz muss
Netzseitig eine Sicherungsvorrichtung
entsprechend den nationalen Normen
vorhanden sein. DAS STROMKABEL DARF
NICHT AUSGETAUSCHT WERDEN,
AUSGENOMMEN DURCH EINEN
ZUGELASSENEN KUNDENDIENST.

» Vergewissern Sie sich nach dem Anschluss des
Gerates, dass das Stromkabel nicht mit
scharfen Metallkanten in Beriihrung kommt.

* Vermeiden Sie den Abluftanschluss der
Dunstabzugshaube an Entliftungsleitungen fir
Rauch aus nichtelektrischen Energiequellen,
z.B. offene Kamine, Heizkessel, etc.

« Der Raum muss Uber eine angemessene
Liftung verfugen, falls Sie die
Dunstabzugshaube gleichzeitig mit nicht-
elektrischen Geraten wie Gasherden, etc.
benutzen.

+ Die UbermaRige Fettansammlung in der
Dunstabzugshaube und in den Metallfiltern kann
Fettabtropfen und Brandgefahr zur Folge haben.
Um dies zu vermeiden, ist es notwendig, das

Innere der Dunstabzugshaube sowie die
Metallfilter mindestens einmal monatlich zu
reinigen.

Der Héhenabstand zwischen der Unterkante der
Dunstabzugshaube und dem Kochherd muss
bei Elektroherden mindestens 50 cm und bei
Gasherden oder kombinierten Gas-
Elektroherden mindestens 65 cm betragen.
BEACHTEN SIE BITTE DIE GRUNDANWEI-
SUNGEN DES HERSTELLERS DER HERD
PLATTE.

Lassen Sie niemals eine Gasflamme offen
brennen, ohne dass Sie ein Kochgefass auf das
Kochfeld stellen. Das in den Filtern
angesammelte Fett kann in die Flamme tropfen
oder sich durch den Temperaturanstieg
entziinden.

Kochen Sie nicht unter der Dunstabzugshaube,
ohne dass die Filter montiert sind, z. B. wenn Sie
diese im Geschirrspliler reinigen.

Unter der Dunstabzugshaube darf nicht
flambiert werden.

Unterbrechen Sie die Stromzufuhr vor jedweder

Handhabung im Inneren der
Dunstabzugshaube, z. B. bei der Reinigung oder
Wartung.

Wenn Sie das Geradt von innen reinigen,
empfehlen wir lhnen, Handschuhe zu tragen und
vorsichtig vorzugehen.

lhre Dunstabzugshaube ist fiir den hauslichen
Gebrauch und nur zum Abzug und Reinigung
von Kochdémpfen aus der Zubereitung von
Lebensmitteln bestimmt. Jede andere Nutzung
unterliegt Ihrer Eigenverantwortung und kann
geféahrlich sein. Der Hersteller Ubernimmt
keinerlei Haftung fir Schaden durch den
unsachgemalen Einsatz des Gerates.

Fur jegliche Reparaturarbeiten wenden Sie sich
bitte an den nachsten TEKA-Kundendienst und
verwenden Sie stets Originalersatzteile.
Reparaturen oder Anderungen, die nicht von
Fachleuten ausgefiihrt werden, kénnen
Schaden am Gerdt und Fehlfunktionen
verursachen und somit |hre Sicherheit
gefahrden.

Dieses Gerat ist entsprechend der europaischen
Richtlinie 2002/96/EG Uber Elektro- und elektro-
nikaltgerate “Waste Electrical and Electronic
Equipment” (WEEE) gekennzeichnet. Die
Richtlinie gibt den Rahmen fir eine EU-weit
gultige Rucknahme und Verwertung der
Altgerate vor, X.

Bei gleichzeitigem Betrieb von
Dunstabzugshauben im Abluftbetrieb und
Feuerstatten darf im Aufstellraum der
Feuerstatte der Unterdruck nicht groRer als 4Pa
(4 x 10°® bar) sein.



Inhaltsverzeichnis

Gebrauchsanleitung

Sie kdnnen die Funktionen der Dunstabzugshaube
durch Betétigung der Bedientasten, wie in der

Seite Zeichnung angegeben, einstellen.
Geréatebeschreibung 7 0 #@ @0
Bedienungsanleitung 7 -
H:Tmelsleuchha. lusr"Pljug!amm.'
Reinigung und Wartung 8 Leistung und Filterséttigung
T»  Ricksteltaste Filtersattigung
Falls etwas nicht funkioniert 8
G Zeiteinstellung
GerétemaBe und technische Daten 8 % Lon
Mitgeliefertes zubehar 9 e Minderung der Geschwindigkeit
Einbau 9 @®  Erhihung der Geschwindigkeit
@ Eingeschaltet-Ausgeschallet
Aktivkohlefilter 9
Um eine bessere Absaugleistung zu erzielen,
empfehlen wir lhnen, das Gerat einige
Minuten vor dem Kochen einzuschalten,
- damit der Luftstrom bei Kochbeginn den
Gerétebeschreibung Dunst dauerhaft und gleichmassig absaugt.
. . Ebenso sollten Sie das Gerat nach dem
A Elektronls"che Programmschaltung mit Kochen einige Minuten eingeschaltet lassen,
Schaltkr!ofgn zur antrolle VO um den vollstédndigen Abzug aller Démpfe und
Geschwindigkeit, Licht und Geriiche nach drauBBen sicherzustellen.

Betriebsanzeige.
B Metallfilter.
C Glihlampen 20 W (G-4).

D,E
bar.

Abzugsrohrverkleidung, héhenverstell-

Programmierung der Abzugszeit

Gehen Sie wie folgt vor:

1) Schalten Sie die Abzugshaube ein und wéhlen

Sie die gewlinschte Abzugsgeschwindigkeit.
2) Driucken Sie "Zeiteinstellung".
"Programmanzeige" beginnt jetzt zu blinken.

Der

3) Wahlen Sie die gewiinschte Programmierzeit,

indem Sie " + + + oder

Absaugleistung”

einstellen. Sie kdénnen die Zeit im 5-Minuten

Abstand einstellen (Minimum.=
Maximum.= 45 Minuten.).

5 Minuten.;

4) Sobald Sie die gewiinschte Zeit gewahlt haben,
driicken Sie nochmals auf "Zeiteinstellung”, damit

das Programm gespeichert wird.

5) Die Abzugshaube schaltet sich nach Ablauf der

eingeschalteten Zeit automatisch ab.

Die Intensivstufe "H" kann nur manuell eingestellt

werden und schaltet automatisch nach ca.

Minuten auf Stufe 2 um.
Kontrolleuchte Filtersattigung “F”

10

Wenn die Kontrolleuchte Filtersattigung aufleuchtet,
sollten Sie die Filter reinigen (Siehe Seite 8, unter

Reinigung der Filter).

Sind die Filter gereinigt, driicken Sie bei abges-

chalteter Haube 3 Sekunden

lang
Ruckstelltaste, so erlischt die Hinweisleuchte.

die



Reinigung und Wartung

Beachten Sie bei der Reinigung und
Wartung des Gerédtes die Sicherheits-
hinweise auf Seite 6.

Reinigung des Geh&uses

* Wenn |lhre Dunstabzugshaube aus
rostfreiem Edelstahl ist, benutzen Sie bitte
die speziellen Reinigungsmittel fir dieses
Material und befolgen Sie die
Gebrauchsanweisung des
Reinigungsmittelherstellers.

« Benutzen Sie keinesfalls metallische
Schwamme bzw. Blrsten und scheuernde
oder atzende Produkte.

» Trocknen Sie die Dunstabzugshaube mit
einem fusselfreien Tuch.

» Der Einsatz von Dampfreinigungsgeraten
ist nicht empfehlenswert.

Reinigung der Metallfilter

Zum Entfernen der Filter aus dem
Filterrahmen (iben Sie leichten Druck auf die
Einflgevorrichtung aus und nehmen Sie dann
die Filter heraus.

Zur Reinigung kénnen Sie die Filter in
heissem Wasser mit neutraler Seife
einweichen, bis sich das Fett 16st und sie
dann unter flieBendem Wasser abspilen,

oder Sie benutzen spezielle Fettléser. Die
Filter kénnen auch in der Spillmaschine
gereinigt werden; in diesem Fall empfehlen
wir lhnen, sie senkrecht zu stellen, damit
keine Speisereste zuriickbleiben. Der Einsatz

von scharfen Reinigungsmitteln in der
Geschirrspllmaschine kann die
Metalloberflache der Filter angreifen

(Einschwarzung), ohne dass sich dies jedoch
negativ auf die Fettabsorptionsféhigkeit der
Filter auswirkt.

Lassen Sie die Filter nach der Reinigung an
der Luft trocknen, bevor Sie sie wieder in die
Dunstabzugshaube einsetzen.

Lampenwechsel

Zeichnung 2 (S. 31)

Gehen Sie wie folgt vor:

+ Entfernen Sie die Metallfilter. Lockern Sie die
Schrauben (ohne sie auszuschrauben) der
EASYCLEAN-Blenden (A), schieben Sie die
Blenden vorsichtig auseinander und nehmen Sie
sie heraus.

» Entfernen Sie die Trager (C) indem Sie die
Schrauben (B) I6sen.

* Wechseln Sie die defekte Lampe
Hochstleistung 20 W (G-4).

* Bringen Sie die Gehause wieder an (C).

+ "Easyclean"-Blende (A) wieder anschrauben.
Flgen Sie die Filter wieder ein.

(D) aus;

Falls etwas nicht funktioniert
Bevor Sie den technischen Service anrufen, Uberprifen Sie bitte folgende Punkte:

Problem

Maogliche Ursache

Lésung

Das Stromkabel ist nicht an
das Netz angeschlossen.

Die Dunstabzugshaube
funktioniert nicht.

Kein Strom im
Netz / Stromausfall.

Schiielien Sie das Kabel an.

Vergewissern Sie sich, dass
das Stromnetz funktioniert

Die Dunstabzugshaube saugt Fettverstopfte Filter,
nicht genligend ab oder

vibriert

Verstopfung im Luftabzugsrohr.

Ersetzen bzw.reinigen Sie die
Aktivkohle-oder Metallfilter.

Entfernen Sie die
Verstopfungsursache.

Die Beleuchtung funktioniert nicht. Die Lampen sind defekt.

Die Lampen sind lose.

Ersetzen ae die Lampen.

Drehen Sie die Lampen fest.

GeriatemaBe und Technische Merkmale

Siehe Seite 30.

TEKA INDUSTRIAL S.A. behilt sich das Recht vor, an seinen Geraten ggf. Anderungen
vorzunehmen, ohne dabei deren Haupteigenschaften zu verandern.

8



Mitgeliefertes Zubehér

1 Reduzierstick 150/ 120 mm.
2 Wandhalterungen (O).
2 Halterung fir den Kamin (C und H).
6 Wandbesfestigungsdiibel @8 x 40.
6 Wandbefestigungsschrauben(5x45)
4 Befestigungsdiibel @6 x 30.
4 Wandbefestigungsschrauben(4x30)
2 U-Scheiben ©@6,4 x @12 fir
Wandbefestigungsschrauben.
2 U-Scheiben ©@6,4 x @18 fir
Wandbefestigungsschrauben.
4 Senkkopfschrauben Nirosta @4 x 12
fur die obere Kaminbefestigung.
2 Senkkopfschrauben Nirosta @3,7 x
10 fir die obere Kaminbefestigung.
2 Klammern.
Einbau
Beim Einbau der Dunstabzugshaube
beachten Sie bitte die Sicherheitshinweise
auf Seite 6.
Fur eine optimale Leistung der

Dunstabzugshaube sollte das Abzugsrohr
nach aufen nicht langer als VIER METER
sein, nicht mehr als zwei 90° Winkel haben und
der Durchmesser sollte mindestens @120
betragen.

Zeichnung 1a (S. 31)

1) Zeichnen Sie gemall Zeichnung 1 (S. 31) die
Bohrlécher fir die Wandhalterungen an und bohren
Sie die Locher fir die Befestigungsdubel (P) (98 x
40), (J) und (E) (96 x 30).

2) Schrauben Sie die beiden Aufhdngungen (O),
wobei zu beachten ist, dass die geschlossene Seite
der Wanddanfhdngungen nach oben zeigt, an die
Wand und zwar mit den Schrauben (Q) (95 x 45) und
die Halterungen (H) und (C) mit den Schrauben (1)
und (D) (4 x 30),

Zeichnung 1b (S. 31)

3) Bringen Sie die Klammern (F) an der Halterung

(C) an.
4) Entfernen Sie die Metallfilter. Lockern Sie die
Schrauben (ohne sie auszuschrauben) der

EASYCLEAN-Blenden (A19), schieben Sie die
Blenden vorsichtig auseinander und nehmen Sie sie
heraus.

5) Héangen Sie die Haube in die befestigte
Aufhangung (O). Nivellieren Sie das Gerat durch
Anziehen der Schrauben (L) (M4 x 12), wie in der
Zeichnung 1b genau dargestellt.

6) Zeichnen Sie die Locher fur die Diibel (R) (98 x
40) aus dem Haubeninnern an.

7) Bohren Sie die Dubellécher und bringen Sie die
Diibel (R) (98 x 40) an und ziehen Sie die
Schrauben (S) (g5 x 45) mit den Unterlegscheiben
(T) (6,4 x D18) fest.

8) Bringen Sie das Teil (B) an, wenn das Innenrohr
(nicht mitgeliefert) einen Durchmesser von @120.

9) Befestigen Sie das Innenrohr mit einer Schelle
(nicht mitgeliefert) entsprechend an (B) bzw. uber
die Luftabzugsoéffnung des Motors an.

10) Lockern Sie die Schrauben (U) (M4 x 25) der
Rohrverkleidung. Nach der Anbringung des
Innenrohres, montieren Sie die
Abzugsrohrverkleidungen durch Befestigung des
Unterteils an der Halterung (H), wie in der Zeichnung
1b genau dargestellt.

11) Befestigen Sie die Rohrverkleidung mittels
Schrauben (U) (M4 x 25) durch das innere der
Haube. Heben Sie die obere Rohrverkleidung an und
befestigen Sie diese mit den Schrauben (G) (93,9 x
13).

12) "Easyclean"-Blende (A19) wieder anschrauben.
Flgen Sie die Filter wieder ein.

Aktivkohlefilter (Optional)

Falls ein Dunstabzug nach aufien nicht
moglich ist, kann die Dunstabzugshaube
mittels Aktivkohlefiltern so betrieben werden,
dass die Reinigung der Luft mit Umluftbetrieb
Uber diese Filter erfolgt.

Die Nutzungsdauer dieser Aktivkohlefilter
betragt, je nachdem wie oft und lange Sie das
Geréat einschalten, zwischen drei bis sechs
Monaten. Diese Filter sind nicht wasch- oder
wiederverwendbar. Sie mussen nach der
Abnutzung erneuert werden.

Zeichnung 3 (S. 31)

1) Entfernen Sie die Metallfilter. Lockern Sie die
Schrauben (ohne sie auszuschrauben)
EASYCLEAN-Blenden (K), schieben Sie die Blenden
vorsichtig auseinander und nehmen Sie sie heraus.
2) Entfernen Sie die Schrauben (U) (M4 X 25) und
Rohrverkleidungen (H). Bringen Sie die
Halterung (G) an den Diffusor(C) an.

3) Befestigen Sie den Diffusor (C) im Inneren
der unteren Rohrverkleidung (H) mit den
Schrauben (D) (M4 x 12). Bringen Sie die
Rohrverkleidung (H) wieder an mit den
Schrauben (U) (M4 x 25).

4) Setzen Sie die Filter jeweils in das Ansaugteil an
beiden Seiten des Motors ein, indem Sie die
Filter6ffnungen (A) in die Raster (B) des
Motorgehauses einstecken. Anschliessend drehen
Sie in die auf der Zeichnung angegebene Richtung.
5) "Easyclean"-Blende (K) wieder anschrauben.
Fligen Sie die Filter wieder ein.

der Q



ENG

Dear client:

Congratulations on your choice. We are sure
that this modern, functional and practical
appliance, made with top quality materials,
will fully satisfy your needs.

Please read every section of this
INSTRUCTIONS MANUAL before using your
kitchen hood for the first time, to ensure
maximum performance from the appliance
and to avoid breakdowns, which may be
caused by incorrect use, as well as to allow
any minor problems to be solved.

Store this manual, as it will provide useful
information about your kitchen hood at all
times and will also help other people to use it.

Safety Instructions

+ Please be aware of current local
regulations with reference to domestic
electrical fittings and gas eduction.

+ Verify that the tension and frequency of the
network match those indicated on the label
located inside the kitchen hood.

» For disconnection from the supply mains
must be incorporated in the fixed wiring in
accordance with the wiring rules. THE NET
CABLE MUST NOT BE SUBSTITUTED,
EXCEPT BY AN AUTHORIZED
TECHNICAL SERVICE.

* Once the kitchen hood has been installed,
ensure that the mains cable to the network
is not in contact with any live metal edges.

+ Avoid connecting the appliance to
conductors used as exits for fumes
produced by a non-electric energy source,
e.g.: boilers, chimneys, etc.

+ If the extractor fan is going to be used
simultaneously with equipment powered by
a non-electric energy source, e.g.. gas
cookers, then the room must have
sufficient ventilation.

» Excessive fat accumulation in the kitchen
hood and metal filters is a fire risk and may
also cause dripping, therefore the inside of
the kitchen hood and the metal filters must
be cleaned at least once a month.

» The lower part of the kitchen hood must be
fitted at least 50 cm. over electric hobs and
65 cm. over gas or mixed hobs. FOLLOW

10

THE HOBS’ MANUFACTURER'S
MINIMUM RECOMMENDATIONS.

Never leave gas hobs lit if not covered by a
container. The fat accumulated in the filters
may drip or catch fire when the
temperature increases.

Avoid cooking under the kitchen hood if the
metal filters are not fitted, e.g.: while they
are being cleaned in the dishwasher.

You must not produce flames under the
kitchen hood.

Disconnect the appliance before any
interior manipulation, e.g. during cleaning
or maintenance.

We recommend the use of gloves and to be
extremely careful when cleaning the
kitchen hood's interior.

Your kitchen hood is designed for domestic
use and only for extraction and purification
of fumes produced during food preparation.
It will be your responsibility if it is used for
other purposes, which may be dangerous.
The manufacturer cannot accept responsi-
bility for damage caused by improper use
of the appliance.

For repairs please contact the nearest
TEKA Technical Assistance Service, and
always use genuine spare parts. Repairs or
modifications carried out by unqualified
personnel can cause malfunctions or may
damage the appliance, putting your safety
in danger.

This appliance is marked according to the
European directive 2002/96/EC on “Waste
Electrical and Electronic Equipment”
(WEEE). This guideline is the frame of a
European-wide validity of return and
recycling on Waste Electrical and
Electronic Equipment, X .

When the cooker hood is run at the same
time as other than electrical appliance or
equipment with different energy source, the
air extraction (underpressure) must no be
higher than 4Pa (4 x 10 bar).

The appliance is not intended for use by
young children or infirm persons without
supervision. Young children should be
supervised to ensure they do not play with
the appliance.



Index

Page
Description of the appliance 11
Instructions for use 11
Cleaning and maintenance 12
Problem solving 12
Sizes and specifications 12
Accessories supplied 13
Installation 13
Active charcoal filters 13

Description of the appliance

A Electronic programmer control box

with buttons to control speed, light and
power in use indicators DISPLAY.

B Metal filters.
C Lamps - 20 W (G-4).
D, E Vertically adjustable tubecovers.

Instructions for use

You may control the kitchen hood by operating the
controls as shown in the diagram.

FO%5000

Display for Programme/
Power and Filter Saturation

=

Reset Filter Saturation
Timer

Light

Reduce speed

Increase speed

©@® 0% @ 2

On-Off

Switch on the extractor fan a few minutes before
you start to cook in order to ensure that a steady air
flow has been established before fumes appear.
Allow the extractor fan to run for several minutes
after you have finished cooking (between 3 to 5
minutes) in order to expel all the grease from the
outlet duct. This prevents the return of grease,
smoke and smells.

Programming timer

Proceed as follows:

1) Turn the kitchen hood on and choose the
required speed.

2) Press "timer". The "Program DISPLAY" will
flash.

3) Select the required time by pressing the
increase and decrease speed selectors.
There is a variation of 5 in 5 minutes.
(Min.= 5 min.; Max.= 45 min.).

4) Once the required time has been selected,
press "timer" again to memorise the
program.

5) The kitchen hood will turn itself off once the
programed time has finished.

The intensive speed "H" can only be selected

manually and will change to speed 2 after

approximately 10 minutes.

Filter saturation indicators “F”

Clean the filters when the saturation indicator
lights up. (See page 12, Filter cleaning
section).
Once you have cleaned the filters, and with
the hood turned off, press the “Filter
Saturation RESET” button for 3 seconds and
the indicator will switch itself off.

11

ENG



ENG

Cleaning and maintenance

During cleaning and maintenance work,
make sure the safety instructions set out
on page 10 are complied with.

Cleaning the hood body

* If your kitchen hood is made from stainless
steel, use proprietary cleaners mentioned
in the product instructions.

* Never use metallic scourers, nor abrasive
or corrosive products.

* Dry the kitchen hood using a cloth that
does not produce fibres.

« The use of vapour cleaners
recommended.

Cleaning the metal filters

is not

To remove the filters from their fittings, press
lightly on the locks and then pull them off.

The metal filters can be cleaned by soaking
them in hot water with neutral detergent until
the fat dissolves and then rinsing them under
the tap or using special anti-grease products.
They can also be washed in a dishwasher. In
this case, it is advisable to stack them

vertically to avoid food residues to stick to
them.

Cleaning in a dishwasher may damage the
metallic surface (blackening it), although this
will not affect its fat retention capacity.

Once clean, leave them to dry off and then fit
them onto the kitchen hood.

Changing light bulbs

Fig. 2 (Page 31)

Proceed as follows:

* Remove the metal filters. Loosen the
screws (without unscrewing them) of the
EASYCLEAN panels (A), move the panels
aside carefully and take them off.

» Dismount the supports (C) by loosening
the screws (B).

* Change the broken/burnt out lamp (D).
Maximum lamp power is 20 W (G-4).

* Mount the supports again (C).

* Mount the EASYCLEAN panel again (A).
Fit the metal filters.

Problem solving

Proceed with the following checks before calling the Technical Service:

Problem Possible cause

Solution

The extractor fan does not work.
network.

The mains cable is not connected to the

There is no current in the network.

Connect mains cable to the network.

Provide current to the network.

The kitchen hood does not extract Filters are saturated with fat.

sufficiently or vibrates,

Obstruction in the air exit conduct.

Change or clean the active charcoal and/or metal
filters, as the case may be.

Remove the obstruction.

The lamps do not light up. The lamps are blown.

The lamps are slack.

Change the lamps.

Tighten the lamps.

Sizes and specifications

See page 30.

TEKA INDUSTRIAL S.A. reserves the right to make changes and corrections to its products as
it deems necessary, without altering their basic characteristics.

12



Accesories supplied

150/ 120 mm reduction.
Support for tubecover.
Wall support.

Wall plugs (98 x 40).
Long bolts (@5 x 45).
Wall plugs (6 x 30).
Long bolts (@4 x 30).
36,4 x 318, washers.
06,4 x @12, washers.
Screws (3,9 x 13).
Screws (J4 x 12).
Clips.

N AN NMDNDNPSAMPMMOOOODDDND =

Installation

On installing the kitchen hood make sure
that the Safety Instructions set out on
page 10 are complied with.

To obtain optimum performance, the external
conduct must not be more than FOUR
METRES long, have no more than two 90°
angles and its diameter must be at least &120.

Fig. 1a (Page 31)

1) Trace and drill the points for fitting the wall
plugs onto the wall (P) (d8 x 40), (J) and (E)
(96 x 30).

2) Attach the Supports (O) to the wall using the
long bolts (Q) (D@5 x 45) and the supports (H)
and (C) with the long bolts (I) and (D) (94 x 30).

Fig. 1b (Page 31)

3) Fit the clips (F) to the support (C).

4) Remove the metal filters. Loosen the screws
(without unscrewing them) of the EASYCLEAN

panels (A19), move the panels aside carefully
and take them off.

5) Hang the kitchen hood onto the mounted
supports (O). Straighten the appliance by
tightening the long bolts (L) (M4 x 12), as per
the detail in figure 1b.

6) Trace the location of the wall plugs (R) (@8
x 40) through the inside of the kitchen hood.
7) Drill into the wall and fit the wall plugs (R)
(98 x 40) and tighten he long bolts (S) (95 x
45) with the washers (T) (96,4 x @18).

8) Fit the part (B) if the inner tube (not supplied)
is ©120.

9) Attach the inner tube with a clamp (not
supplied) to (B) or on to the motor's air outlet
vent as the case may be.

10) Loosen the screws (U) (M4 x 25) the lower
tubecover. Once the inner tube is fitted, mount
the tubecovers, attaching the lower one to the
support (H) as per the detail in figure 1b.

11) Attach ubecover around with the screws
(U) (M4 x 25) through the inside of the kitchen
hood. Lift and attach the upper tubecover with
the screws (G) (3,9 x 13).

12) Mount the EASYCLEAN panel again (A19).
Fit the metal filters.

Active charcoal filters (Optional)

When exterior gas extraction is not possible,
then the kitchen hood may be set to purify the
air by recycling it through active charcoal
filters.

The active charcoal filters have an active life of
between three to six months, depending on

the individual conditions of use. These filters (5
cannot be washed nor regenerated. They must £

be replaced once their useful life comes to an
end.

Fig. 3 (Page 31)

1) Remove the metal filters. Loosen the screws
(without unscrewing them) of the EASYCLEAN
panels (K), move the panels aside carefully
and take them off.

2) Remove the screws (U) (M4 x 25) and the
tubecovers (H). Fit the nut-supports (G) to the
diffuser (C).

3) Fit the diffuser (C) into the inside of the lower
tubecover (H) with the screws (D) (M4 x 12).
Mount the tubecovers (H) with the screws (U)
(M4 x 25).

4) Put the filters into the lateral draught section
of the motor making the holes in the filters
match up (A) with the pivots (B) of the motor
carcass. Turn as indicated in the diagram.

5) Mount the EASYCLEAN panel again (K). Fit
the metal filters.

13



FR

Cher client, toutes nos félicitations! Vous avez
fait un excellent choix. Nous sommes sdrs et
certains que cet appareil, moderne,
fonctionnel et pratique qui a été construit avec
des matériaux de premiére qualité, pourra
largement répondre a vos besoins.

Avant d'utiliser la hotte pour la premiere fois,
lisez attentivement les sections de ce
MANUEL D'INSTRUCTIONS. Cela vous
permettra non seulement d'obtenir un meilleur
rendement de l'appareil mais aussi d'éviter les
pannes qui pourraient se produire par la suite,
en cas de mauvaise utilisation de l'appareil ;
par ailleurs, cela vous permettra surtout de
résoudre les petits probléemes auxquels vous
pourrez étre confrontés.

Conservez ce manuel, il vous fournira, a tout
moment, une information utile concernant
votre hotte et facilitera, par ailleurs, son
utilisation a d'autres personnes.

Instructions de Sécurité

* Respectez les dispositions légales en vigueur
aussi bien concernant les installations
électriques domestiques que concernant les
dégagements de gaz.

« \rifiez si la tension tout comme la fréquence du
réseau correspondent bien avec celles
indiquées sur I'étiquette située a l'intérieur de la
hotte.

* Un systéme de coupure du courant électrique
doit étre mis en place en conformité avec la
norme en vigueur. VOUS NE DEVEZ PAS
REMPLACER LE CABLE D’ALIMENTATION,
SEUL UN SERVICE TECHNIQUE AUTORISE
PEUT LE FAIRE.

* Une fois que la hotte a été installée, faites en
sorte que le cable d'alimentation qui doit étre
branché sur le réseau ne soit pas en contact
avec des arétes métalliques vivantes.

+ Evitez de brancher I'appareil & des conduits
devant étre utilisés pour le dégagement de
fumées produites par une source d'énergie
difféerente  a |"électrique par exemple;
chaudieres, cheminées, etc.

» Dans la piéce, la ventilation doit étre adéquate
dans le cas ou la hotte serait utilisée en méme
temps que des appareils devant étre branchés
sur une source d'énergie différente a |"électrique
par exemple; cuisiniéres a gaz, etc.

* L'accumulation excessive de graisse dans la
hotte tout comme dans les filtres métalliques
peut provoquer des incendies et des

14

égouttements, c'est pourquoi il est nécessaire
de laver lintérieur de la hotte et des filtres
métalliques au moins une fois par mois.

La partie inférieure de la hotte doit étre située au
moins a 50 cm. de haut sur des plaques
électriques et a 65 cm., sur des plaques a gaz
ou mixtes. RESPECTEZ LES INDICATIONS
FONDAMENTALES DU FABRICANT DE LA
PLAQUE A CUISSON.

Ne jamais laisser les brlleurs a gaz allumés
sans placer un récipient dessus. La graisse
accumulée dans les filtres peut dégoutter ou
s'enflammer a cause de l'augmentation de
température.

Eviter de faire la cuisine sous la hotte si les
filtres métalliques ne se trouvent pas a leur
place, par exemple; pendant qu'ils sont nettoyés
dans le lave-vaisselle.

Il est interdit de flamber sous la hotte.
Débrancher l'appareil avant de faire n'importe
quelle manipulation a l'intérieur de ce dernier ;
par exemple, pendant le nettoyage ou l'entretien.
Nous vous recommandons d'utiliser des gants et
de prendre toutes les précautions nécessaires
au moment de nettoyer l'intérieur de la hotte.
La hotte est destinée a l'usage domestique et
exclusivement a l'extraction et a la purification
des gaz produits par la préparation d'aliments.
L'utilisation a d'autres fins est sous votre entiére
responsabilité et peut étre dangereuse. Le
fabricant ne se responsabilise pas des
dommages causés par une mauvaise utilisation
de I'appareil.

Pour tout type de réparation, veuillez vous
adresser au Service d'Assistance Technique de
TEKA le plus proche, et utiliser toujours des
pieces de rechange originales. Les réparations
ou modifications réalisées par un personnel non
qualifi¢ peuvent causer des dommages a
I'appareil ou peuvent entrainer un mauvais fonc-
tionnement et peuvent méme mettre en danger
votre propre sécurité.

Cet appareil respecte la directive européenne
2002/96/CE relative aux appareils électriques et
électroniques usagés “Waste Electrical and
Electronic Equipment” (WEEE). La directive
définit le cadre pour une reprise et une
récupération des appareils usagés applicables
dans les pays de la CE, K.

Lorsqu'on met en marche la hotte en méme
temps que d autres appareils alimentés par une
énergie autre qu’électrique, la sortie d air ne doit
pas étre supérieure a 4Pa (4 x 10 bar).



Index

Page
Description de I'appareil 15
Mode d'emploi 15
Nettoyage et Entretien 16
Si quelque chose ne marche pas 16
Dimensions et caractéristiques 16
Accessoires livrés 17
Installation 17
Filtres a charbon actif 17
Description de I'appareil
A Commande électronique servant a
programmer, dotée de boutons
destinés a contrbler la vitesse, la
lumiere ainsi que les DISPLAY
indicateurs de puissance en fonction-
nement.
B Filtres métalliques.

C Lampes 20 W (G-4).
D, E Couvre-tuyaux, réglables en hauteur.

Mode d'emploi

En appuyant sur la commande comme cela est
indiqué sur la figure, vous pourrez contrbler les
fonctions de la hotte.

FO#5000

Display du programme/

@

Puissance et Saturation des filtres
Reéinitialiser saturation des Filtres
Temporisateur

Lumiére

Réduction de la vitesse

Augmentation de la vitesse

©@® 0% @ 2

Allumage-Extinction

Afin d'obtenir une meilleure aspiration, nous
vous recommandons de mettre en marche la
hotte quelques minutes avant de faire la
cuisine pour que le flux d'air soit soutenu et
stable au moment d'aspirer les fumées.

De méme, laissez la hotte allumée quelques
minutes aprés avoir fini de faire la cuisine
pour que les fumées tout comme les odeurs
soient entierement évacuées a l'extérieur.

Programmation du temps d'aspiration

Procédez de la fagon suivante:

1) Allumez la hotte et choisissez la vitesse
d'aspiration souhaitée.

2) Appuyez sur "Temporisateur". "DISPLAY du
programme" se mettra & clignoter.

3) Choisir la durée de programmation désirée en
appuyant sur "Augmentation et diminution de la
vitesse". Cela varie de 5 en 5 minutes. (Min =5
min.; Max = 45 min.).

4) Une fois sélectionné le temps souhaité, appuyez
a nouveau sur "temporisateur" pour mémoriser
le programme.

5) La hotte s'éteindra a la fin du temps programmé.

La vitesse intensive "H" ne se sélectionne que

manuellement et passera a la vitesse 2 aprés

environ 10 minutes.

Indicateur saturation des filtres “F”

Quand l'indicateur de saturation des filtres s'allume,
il procéde au nettoyage de ces derniers. (Voir page
16, paragraphe: Nettoyage des filtres).

Une fois nettoyés, et la hotte éteinte, appuyer sur le
bouton "Réinitialiser saturation des filtres" pendant
plus de 3 secondes et la lampe témoin s éteindra.

15

FR



Nettoyage et entretien
Au moment de procéder au nettoyage et a
I'entretien, veuillez respecter les

instructions de Sécurité indiquées a la
page 14.
Nettoyage du corps de la hotte

» Si votre hotte est en acier inoxydable,
utilisez des produits de nettoyage
spécialisés pour ce type de matériau en
suivant les instructions du fabricant du
produit.

* N'utilisez, en aucun cas, des éponges
métalliques ni des produits abrasifs ou
corrosifs.

» Séchez la hotte en utilisant un linge ne
contenant pas des pilosités.

* Il n'est pas conseillé d’utiliser des
appareils de nettoyage a vapeur.

Nettoyage des filtres métalliques

Pour retirer les filtres de I'endroit ou ils sont
placés, exercez une légére pression sur les
dispositifs d'enclavement et ensuite, tirez.

Les filtres métalliques peuvent étre nettoyés
en les plongeant dans de l'eau chaude
contenant du détergent neutre jusqu'a ce que
la graisse disparaisse et ensuite en les ringant
sous le jet de I'eau du robinet ou en utilisant

des produits spécifiques pour la graisse. De
méme, ils peuvent étre lavés dans un lave-
vaisselle.

Dans ce cas, il est recommandé de le faire en
les plagant verticalement pour éviter que des
restes de nourriture ne se déposent dessus.
Le fait de laver les filires dans un lave-
vaisselle peut détériorer la surface métallique
(en la noircissant) sans pour autant que cela
n'ait des répercussions sur leur capacité de
retention de graisses.

Une fois qu'ils sont propres, il faudra les
laisser sécher en plein air et ensuite les placer
dans la hotte.

Changement des ampoules

Fig. 2 (Page 31)

Procédez de la fagon suivante:

* Retirez les filtres métalliques. Desserrez les vis
(sans les enlever) du panneau nettoyage facile
(A), déplacez-le doucement et retirez-le.

+ Démontez les supports (C) en déserrant les vis
(B).

* Changez |'ampoule abimée/grillée (D). La
puissance maximum des ampoules est de 20 W
(G-4).

* Montez a nouveau les supports (C).

* Remontez le panneau nettoyage facile (A).
Placez les filtres métalliques.

Si quelque chose ne marche pas
Avant d'appeler le Service Technique, procédez aux vérifications suivantes:

Probléme

Cause éventuelle

Solution

La hotte ne marche pas.
brancheé sur le réseau.

Le cable d'alimentation de |a hotte n'est pas

Il n'y a pas de courant sur le réseau.

Branchez le cable d'alimentation sur le réseau.

Faites en sorte que le courant arrive au réseau,

La hotte n'aspire pas assez ou vibre. ﬁires saturés de graisse.

dair.

Obstruction dans le conduit d'échappement

Remplacez ou nettoyez les filtres & charbon actif
et/ou métalliques selon le cas.

Enlevez I'obstruction,

FR

Les lampes n'éclairent pas. Les ampoules sont grillées. Remplacez les ampoules.

Les ampoules sont déserrées, Serrez les ampoules.

Dimensions Caractéristiques
Voir page 30.

La Société TEKA INDUSTRIAL S.A. se réserve le droit d'introduire dans ses appareils les
modifications qu'elle jugera opportunes sans pour autant modifier leurs caractéristiques
fondamentales.

16



Accessoires livrés

Réduction 150/ 120 mm.
Support pour couvre-tuyau.
Supports mur.

Sabot de retenue (28 x 40).
Vis a bois (5 x 45).

Sabot de retenue (6 x 30).
Vis a bois (@4 x 30).
Rondelles (36,4 x &12).
Rondelles (26,4 x &18).
Vis (93,9 x 13).

Vis (@4 x 12).

Agrafes.

N BAEAMNMNOMNMNBRERPAOODODNDDND =

Installation

Faites tout pour respecter les Instructions
de Sécurité indiquées a la page 14 au
moment d'installer la hotte.

Pour obtenir un meilleur rendement, la
conduite située a l'extérieur ne devra pas
dépasser les QUATRE METRES et ne devra
pas non plus avoir plus de deux angles de 90°.
Par contre, elle devra avoir au moins @120 de
diamétre.

Fig. 1a (Page 31)

1) Tracez et perforez dans le mur les points
pour fixer les sabots de retenue (P) (@8 x 40),
(J) et (E) (26 x 30).

2) Vissez les supports (O) au mur a l'aide des
vis a bois (Q) (5 X 45) et les supports (H) et
(C) a l'aide des vis a bois (l) et (D) (4 x 30).
Fig. 1b (Page 31)

3) Placez les agrafes (F) dans le support (C).
4) Retirez les filtres métalliques. Desserrez les
vis (sans les enlever) du panneau nettoyage
facile (A19), déplacez-le doucement et retirez-
le.

5) Accrochez la hotte dans les supports
installés (O). Nivelez I'appareil en serrant les
vis (L) (M4 x 12), comme cela est indiqué sur
le croquis de la figure 1b.

6) Tracez le placement des sabots (R) (8 x
40) a l'intérieur de la hotte.

7) Perforez le mur et accrocher les sabots (R)
(D8 x 40) et serrez a l'aide des vis a bois (S)
(D5 x 45) au moyen des rondelles (T) (6,4 x
a18).

8) Placez la piece (B) si le tuyau intérieur (non
livré) est @120.
9) Fixez le tuyau intérieur avec un collier (non
livré) a (B) ou dans la zone d’évacuation d’air
du moteur selon le cas.
10) Desserrez les vis (U) (M4 x 25) du couvre-
tuyau inférieur. Une fois que le tuyau intérieur
est placé, montez les couvre-tuyaux. En fixant
la partie inférieure sur le support (H) comme
cela est indiqué sur le croquis de la figure 1b.
11) Fixez le couvre-tuyau inférieur avec des vis
(U) (M4 x 25) & l'intérieur de la hotte. Elevez et
fixez le couvre-tuyau supérieur avec des vis
(G) (93,9 x 13).
12) Remontez le panneau nettoyage facile
(A19). Placez les filtres métalliques.

Filtres a charbon actif (facultatif)

Dans le cas ou il serait impossible d'évacuer le
gaz a l'extérieur, la hotte peut étre placée pour
purifier l'air en le faisant passer a nouveau
dans les filtres & charbon actif.

Les filtres a charbon actif peuvent durer entre
trois et six mois, selon la facon dont ils sont
utilisés par tout un chacun. Ces filires ne sont
pas lavables et ne peuvent pas étre regénérés
non plus. Une fois qu'ils sont abimés, il faut les
remplacer.

Fig. 3 (Page 31)

1) Retirez les filtres métalliques. Desserrez les
vis (sans les enlever) du panneau nettoyage
facile (K), déplacez-le doucement et retirez-le.
2) Retirez les vis (U) (M4 x 25) et es couvre-
tuyaux (H). Placez les écrous-support (G) dans
le diffuseur (C).

3) Placez le diffuseur (C) a lintérieur en
utilisant des vis (D) (M4 x 12). Placez a
nouveau les couvre-tuyaux (H) avec des vis
(U) (M4 x 25).

4) Placez les filires dans la section latérale
d‘aspiration du moteur en faisant correspondre
les orifices des filtres (A) avec les pivots (B) de
la carcasse du moteur. Tournez dans le sens
qui est indiqué sur la figure. o
5) Remontez le panneau nettoyage facile (K). W=
Placez les filtres métalliques.

17



Estimado cliente:

Parabéns pela sua preferéncia. Estamos
certos que este aparelho, moderno, funcional
e pratico, construido com materiais de
primeira qualidade, ira satisfazer plenamente
as suas necessidades.

Leia todas as secgbes deste MANUAL DE
INSTRUCOES antes de utilizar o exaustor de
campanula pela primeira vez, a fim de obter o
maximo rendimento do aparelho e evitar
avarias provocadas por uma utilizagdo
incorrecta, permitindo-lhe ainda solucionar
pequenos problemas.

Guarde este manual, pois fornecer-lhe-a
informacodes Uteis sobre o seu exaustor em
qualquer altura e facilitara a utilizagdo do
mesmo por outras pessoas.

Instrugées de Seguranca

* Respeite as normas locais em vigor que
regulam as instalagdes eléctricas domésticas e
evacuagao de gases.

» Certifique-se que a tensao e frequéncia da rede
correspondem as indicadas na etiqueta situada
no interior do exaustor.

* Deve ser incorporado um meio de desconexao
da rede eléctrica, de acordo com as regulamen-
tagdes da instalagdo. NAO SE PODE
SUBSTITUIR O CABO DE ALIMENTAGAO,
SOMENTE POR UM TECNICO AUTORIZADO.

* Uma vez instalado o exaustor, certifique-se que
o cabo de alimentagdo a rede ndo estd em
contacto com arestas metdlicas vivas.

» Evite ligar o aparelho a condutas utilizadas para
a evacuagdo de fumos originados por uma
energia que nao seja eléctrica. Por exemplo:
caldeiras, chaminés, etc.

* O compartimento deve estar provido de uma
ventilagdo adequada se o exaustor for utilizado,
simultaneamente, com aparelhos alimentados
por uma energia que nao seja eléctrica. Por
exemplo: cozinhas a gas.

* A acumulagao excessiva de gordura no exaustor
e filtros metalicos aumenta o risco de incéndio e
saturagdo, sendo, por isso, necessario lavar a
parte interior do exaustor e os filtros metalicos
pelo menos uma vez por més.

* A parte inferior do exaustor deve estar, no

18

minimo, a 50 cm de altura das placas de fogao
eléctricas e a 65 cm das placas a gas ou mistas.
OBSERVE AS INDICAGCOES MiNIMAS DO
FABRICANTE DO FOGAO.

Nunca deixe os bicos do fogdo acesos sem que
tenham um recipiente a cobri-los. A gordura
acumulada nos filtros pode escorrer ou inflamar-
se devido ao aumento de temperatura.

Evite cozinhar por baixo do exaustor se os filtros
metalicos ndo estiverem colocados, por
exemplo: enquanto estiverem a ser lavados na
maquina de lavar a loiga.

N&o deve flamejar debaixo do exaustor.

Desligue o aparelho antes de efectuar qualquer
manipulagdo no seu interior. Por exemplo:
durante a limpeza ou manutengao.

Recomendamos o uso de luvas e extrema
precaugdo durante a limpeza do interior do
exaustor.

O seu exaustor destina-se a uso doméstico e
unicamente para a extracgao e purificagcdo dos
gases provenientes da preparagdo de
alimentos. A sua utilizagao para outros fins é da
sua inteira responsabilidade e pode ser
perigosa. O fabricante n&o se responsabiliza por
danos causados por uma utilizagéo indevida do
aparelho.

Para qualquer reparagdo, devera dirigir-se ao
Servigo de Assisténcia Técnica da TEKA mais
proximo e utilizar sempre pecas originais. As
reparagdes ou modificagdes realizadas por
pessoal ndo qualificado podem originar danos
no aparelho ou um mau funcionamento,
colocando em perigo a sua seguranca.

Este aparelho cumpre com a Directiva Europeia
2002/96/CE sobre aparelhos eléctricos e
electronicos identificada como “Residuos de
Aparelhos Eléctricos e Electronicos”. A directiva
proporciona um ponto padrao valido para toda a
Unido europeia para a recolha e reciclagem dos
residuos dos aparelhos eléctricos e
electronicos, X.

Quando a Chaminé de cozinha se liga ao
mesmo tempo de outros electrodomésticos com
energia distinta da eléctrica, a saida de ar ndo
deve ser superior a 4Pa (4 x 10 bar).



indice

Péagina
Descrigao do aparelho 19
Instrucdes de utilizacéo 19
Limpeza e manutengao 20
Em caso de alguma avaria 20
Dimensoes e caracteristicas 20
Acessoérios fornecidos 21
Instalagao 21
Filtros de carbono activo 21

Descri¢ao do Aparelho

A Comando electrénico de programacgao

com botdos para controlar

a

velocidade, luz e DISPLAY
indicadores de poténcia em utilizagao.

B Filtros metalicos.
C Lampadas - 20 W (G-4).
D, E Condutas, regulaveis em altura.

Instrugoes de Utilizagdo

Ao accionar o comando como indica a figura
podera controlar as fun¢des do exaustor.

EG-*-@@CD

Display du programme/

=]

Puissance et Saturation des filtres
Réinitialiser saturation des Filtres
Temporisateur

Lumiére

Reéduction de la vitesse

Augmentation de la vilesse

O @ 0% @ 2

Allumage-Extinction

Programacéo de tempo de aspiragéo

Para conseguir uma melhor aspiragao,
recomendamos que ponha o exaustor em
funcionamento uns minutos antes de cozinhar para
que o fluxo de ar seja continuo e estavel no
momento de aspirar os fumos.

De igual modo, mantenha o exaustor em
funcionamento uns minutos depois de cozinhar
para que a totalidade dos fumos e odores sejam
aspirados para o exterior.

Proceda do seguinte modo:

1) Ligue o exaustor e seleccione a velocidade de
aspiracao desejada.

2) Carregue no "temporizador". O "DISPLAY de
programa" comecara a piscar.

3) Escolha o tempo de programacéo desejado
accionando nos botdes de "Aumento e diminuicao
de velocidade". A variacdo é de 5 em 5 minutos.
(Min. = 5 min.; Méx.= 45 min.).

4) Ap6s ter seleccionado o tempo desejado, volte a
carregar no "temporizador" para memorizar o
programa.

5) O exaustor apagar-se-a apos ter decorrido o
tempo programado.

A velocidade intensiva "H" s6 podera ser
seleccionada manualmente, e passara para a
velocidade 2 passados 10 minutos aproximada-
mente.

Indicador de saturagéo dos filtros “F”

Quando o indicador de saturacdo dos filtros se
acender, proceda a limpeza dos mesmos. (Ver pag.
20, cap. Limpeza dos filtros).

Depois de limpos, com a chaminé desligada,
accione na tecla "Restauragdo Saturacdo dos
filtros" durante 3 segundos para desligar o
indicador.

19



Limpeza e Manutengéo

Ao efectuar os trabalhos de limpeza e
manutengdo, certifique-se que cumpre as
instrucdes de Seguranca indicadas na
pagina 18.

Limpeza do Corpo do Exaustor

* Se o0 seu exaustor for em acgo inoxidavel
deve utilizar produtos especificos para
este material, conforme as instrugbes do
fornecedor do produto.

* Nunca utilize esfregdes metélicos nem
produtos abrasivos ou corrosivos.

* Seque 0 exaustor com um pano que nao
liberte pélos.

* Nao ¢ aconselhavel a utilizagcdo de
produtos de limpeza por vapor , para
realizar esta tarefa.

Limpeza dos Filtros Metalicos

Para retirar os filtros faga uma ligeira pressao
sobre 0s encaixes e retire-os.

Os filtros metalicos podem ser limpos
deixando-os em &gua quente e detergente
neutro até que a gordura se dissolva e
enxugando-os debaixo da torneira ou

utilizando produtos préprios para gordura.

Também podem ser lavados na maquina de

lavar a loica. Neste caso, é aconselhavel

colocar os filtros na vertical a fim de evitar que
se depositem restos de comida nos mesmos.

A lavagem dos filtros na maquina de lavar

loica pode deteriorar a superficie metdlica

(enegrecendo-a), no entanto nao afecta a sua

capacidade de retencédo de gorduras.

Uma vez limpos, deixe os filiros secar ao ar e

depois volte a coloca-los no exaustor.

Substituicéo de Luzes

Fig. 2 (Pag. 31)

Proceda do seguinte modo:

* Retire os filtros metalicos. Desaperte os
parafusos (sem os retirar) do limpa facil
(A), desloque-o suavemente e retire-o.

» Desmonte os suportes (C), desapertando
os parafusos (B).

« Troque a lampada avariada/fundida (D). A
poténcia maxima das lampadas é de 20 W
(G-4).

» \Volte a montar os suportes (C).

* Voltar a montar a "facil limpeza" (A).
Coloque os filtros metalicos.

Em caso de Alguma Avaria
Antes de telefonar ao Servigo Técnico, faca as seguintes verificagoes:

Problema Possivel causa Solucao
O exaustor ndo funciona. O cabo de alimentagio do exaustor néo Ligue o cabo de alimentagéo a
esta ligado a rede. rede.

Nao ha corrente na rede.

Certifique-se que a rede tem
corrente.

O exaustor ndo aspira o suficiente]
ou vibra.

Filtros saturados de gordura.

Obstrugéo na conduta de saida de ar.

Substitua ou limpe os filtros de
carbono activo efou metélicos
consoante o caso.

Elimine a obstrugdo.

As lampadas nao acendem.

As lampadas estio fundidas.

As lampadas estio frouxas.

Substitua as lampadas.

Aperte as lampadas.

Dimensodes e Caracteristicas

Veja na pagina 30.

A TEKA INDUSTRIAL S.A. reserva-se o direito de introduzir nos seus aparelhos as alteragdes
que considerar necessarias sem prejuizo das suas caracteristicas basicas.

20



Acessorios Fornecidos

Redutor de 150/ 120 mm.

Suporte para conduta.

Suportes parede.

Buchas (@8 x 40).

Tira-fundos (parafuso de cabeca
hexagonal) (&5 x 45).

Buchas (@6 x 30).

Tira-fundos (parafuso de cabeca
hexagonal) (@4 x 30).

Anilhas @6,4 x @12.

Anilhas @6,4 x @18.

Parafusos (@3,9 x 13).

Parafusos (M4 x 12).

Ganchos.

e oo NN =

N

N AN NN

Instalagédo

Durante a instalacgédo do exaustor certifique-
se que cumpre as Instru¢cdes de Seguranca
indicadas na péagina 18.

Para obter o maximo rendimento, a conduta
para o exterior ndo devera ser superior a
QUATRO METROS, ter mais de dois angulos
de 90°, e o seu didmetro deve ser de pelo
menos J120.

Fig. 1a (Pag. 31)

1) Marque e fure na parede os pontos de
fixacdo das buchas (P) (8 x 40), (J) e (E) (96
x 30).

2) Fixe os suportes (O) a parede com os tira-
fundos (Q) (@5 x 45) e os suportes (H) e (C)
com os tira-fundos (I) e (D) (@4 x 30).

Fig. 1b (Pag. 31)

3) Coloque os ganchos (F) no suporte (C).

4) Retire os filtros metalicos. Desaperte os
parafusos (sem os retirar) do limpa facil (A19),
desloque-o suavemente e retire-o.

5) Coloque o exaustor nos suportes que foram
montados (O). Nivele o aparelho, apertando os
parafusos (L) (M4 x 12), conforme indicado no
detalhe da figura 1b.

6) Marque a localizagéo das buchas (R) (98 x
40) a partir do interior do exaustor.

7) Fure a parede e coloque as buchas (R) (28
x 40) e aperta os tira-fundos (S) (@5 x 45) com
as anilhas (T) (26,4 x @18).

8) Coloque a peca (B) se o tubo interior (ndo
fornecido) for @120.

9) Fixe o tubo interior com uma bracadeira
(ndo fornecida) a (B) ou sobre a secgcédo de
saida de ar do motor consoante o caso.

10) Desaperte os parafusos (U) (M4 x 25) do
conduta inferior. Uma vez colocado o tubo
interior, monte as condutas, fixando a conduta
inferior no suporte (H), conforme indicado no
detalhe da figura 1b.

11) Fixe a conduta inferior com os parafusos
(U) (M4 x 25) a partir do interior do exaustor.
Suba e fixe a conduta superior com os
parafusos (G) (3,9 x 13).

12) Voltar a montar a "facil limpeza" (A19).
Coloque os filtros metalicos.

Filtros de Carbono Activo (Opcional)

Quando nado for possivel a evacuagdo de
gases para o exterior, o exaustor pode ser
configurado para purificar o ar fazendo-o
circular de novo através de filiros de carbono
activo.

A duracgéo dos filtros de carbono activo varia
entre trés e seis meses, dependendo das
condigbes particulares de utilizagdo. Estes
filtros ndo sao lavaveis nem reutilizaveis, pelo
que devem ser substituidos sempre que
termina a sua vida util.

Fig. 3 (Pag. 31)

1) Retire os filiros metalicos. Desaperte os
parafusos (sem os retirar) do limpa facil (K),
desloque-o suavemente e retire-o0.

2) Retire os parafusos (U) (M4 x 25) e les
couvre-tuyaux (H). Placez les écrous-support
(G) dans le diffuseur (C).

3) Placez le diffuseur (C) a lintérieur en
utilisant des vis (D) (M4 x 12). Placez a
nouveau les couvre-tuyaux (H) com os
parafusos (U) (M4 x 25).

4) Coloque os filtros na secgéo lateral de
aspiragdo do motor fazendo coincidir os
orificios dos filtros (A) com os pivots (B) da
carcaga do motor. Gire no sentido indicado na
figura.

5) Voltar a montar a "facil limpeza" (K).
Coloque os filtros metalicos.

21



GR

Ayamte Tekdrm,

Zoyyapnmple ywe v emioyn oag. Eipaote
PéParor 61 wut) N GUYYpOVY, ASITOLPYIKY KOl
TPOKTIKY) GUOKELY, KATUOKEDUOUEVN] HE TO
KoADTEPNS mol0TNTUG vLAd, Oo kavomoujcel
TANPOS TIS UVAYKES GUC.

[Ipwv v mpo yprion g cvokevnc, Bo npémet
v S1uPaoste TPOCEKTIKA TIG TANPOPOPIES (vToD
TOL PLALUSIOV WOTE Vo EEuoPUAIGETE TN HEYIOTY
amddocn and TI) GLUOKELT KOl Y10 VO GTOQUYETE
wnyavikég PraPeg mov pmopet va mpokinboiv and
ravBaopévn yphon, kabog emiong kat va
unopécete va Moete OMO1USNMOTE
HiKpompoPrnpate PTopel va TPoKHYoLY.
Gukdite avtd 1O EYYEPIOIWO O UoYUIES UEPOC,
Kb TPOSPEPEL TAVIOTE YPNOIUES TANPOPOPIES
Yo TOV amoppognThpe cog kai emiong Ba
Bonbioer dhlovg va To ¥pnoILonomcony.

Kavoviopiot Gopels

- Hoapakahodpe, evnuepobeite yu tovg 16y HovVIES
TOTMIKOUG KOVOVICHOUG TOU GQopolV TIC EYYOPIES
NAEKTPIKEG EYKUTUGTAGEIS KUl TOV TPOmo  eE0yyNng
UEPLOV.

- Empefudote 6t n tdon ke 1 ovgvotite o0
niektpikolh Sikroov tapalovv pe autéc mov
VIOBEIKVDOVTOL OTV ETIKETH Tov Ppioketol eviog
TOV UTOPPOPNTHPU.

- Ta arosdvdeon and ™V mapoy TPEMEl va sival
gvompatopivo ot otabepn) Kehodioon cippova
pe touvg Kavoves kuimdioons. TO KAAQAIO
MAPOXHE HAEKTPIKOY PEYMATOX MITOPEI
NA  ANTIKATAETAGEI MONO AIIO TO
EZOYZIOAOTHMENO ZEPBIZ.

- Ortav o amoppopnmipus eykatactubel, Pefumbeite
OTL TO KEVIPIKO Kuh®dlo g olvdeong dev sival ot
enopn pe “lovrava” Joyunpd peTedlka dxpa.

- Amogoyete Tn cOvdeon e£0dou TG CGUOKELNG pE
aymyols MOV YPNGILOTOIOUVTUL ®¢ ££0001 KUTVHV
MOV MUPEYOVIAL Umd ANYEC TOL DEV AEITOLPYOUV LE
NAEKTPIKT EVEPYELD, M.} KAVGTI|PES, KATVOIOYO KAT.

- Eav o avepomipog efaymyne mpokertar va
ypnowonombel tavtéypove pe efomiiopd mou
Aettovpysi pe pio pn NAEKTpICAG EvEpYELRS TNy Ty,
kovliva vypuaspiov, TOTE 0 YOPOS TPEMEL v EYEL
EMAPKT] eCUEPIGHO.

- HunepPorucn ovoampevon atayovidioy Aimovg atov
QmOPPOPNTAPE Kol OTC METOAMKG @iktpa gival
emkiviuvo va mpokeiécel moprayd kobohg o
vypomoinen TV atpdv  (otayovidie  vepon).
Emopéving o £0MTEPIKO TOV GMOPPOENTIPL Kol TO

22

petahhikd  @iktpa  mpémer  va
TOVAGYIOTOV it QOpPG TOV UiV,

To KotOTEPO PEPOS TOU GRMOPPOPNTIAPE TPETEL ViL
tonofemBel o amootuon Tovkdyiotov 50 ek mave
amd TIS NAEKTPIKES EOTIES Kot 65 K mave amd TIg
EOTIEC LYPUEPIOL 1) U0 HIKTOD CLOTHHATOS ECTIES.
AKOAOYOEIZTE ITIETA TIZ OAHTIEEX TOY
KATAZKEYAZTH.

[MoTé va punv a@nVveTe £0TIES LYPUEPIOL OVOLUEVES
€0V OEV DRAPYEL HOYEIPIKO OKEVOS Mave tovg. Ta
GUGOMPELUEVE GTOYOVIdIL Almove oTo peTohKd
Qiltpu umopel va SnpovpyRcEl LYpOTOINGTY TMV
ATV 1] VI TPOKUAEGOUY TupKayld, otav avsnbei n
Oepuokpacio.

ATOQPUYETE VO NOYEIPEVETE  KAT®  Oamd 1OV
amoppognTipe Oty o HeTehlikd QikTpa dev eivon
tomobetnuéva, ny. dtav kabupilovtar oto mhuveipo
MATWV.

kabapilovran

Agv mpEmer vu mopayete QAGYEC KdTw ond TOV
amoppOPNTIPC.

ATOGUVOESTE TV GLOKELT] WG TV NAEKTPIKY
POy TPV GO OTOWSTOTE ECMTEPIKTY EMEUPaon,
.. Kotd ™ dudpkela kebopiopo 1 covoipnonc.
Otav kabupilete 10 £COTEPIKO TOV amoppopiTipa,
GUVIGTOUHE VO ¥PNCIHOTOLEITE YAVTIC Kol Vo gioTe
£CUIPETIKG TPOCEKTIKOL.

O amoppopnTipus £ival CYESWOUEVOS VI OIKIOKY
ypNon Kal pévo yio v arofiorn ko tov kabopiopd
TOV OGUOV TOL SNUIOVPYODVINL GTd TNV ETOIMOGIN
Tov gaynrov. H ypijon tov ye omowovdénnote diio
okomd eivan pe 61KN cug evbivn ko pmopei va
anodeydel emkivévvn. O Kutaokevaotig dev pumopel
va Bewpnbei vmevbuvoc  yie Oqud mouv Eyel
npokinbel and ukaTdiinin gpion g GLGKELNG.

Xe mepimtoon Prapng, o mpéner va ansvbovleite
ato eZovawdompévo aEpfic g "Teka™ ka navrote
Vi ¥PNCIHOTOIETTE Yviiow aviedlakTikd. Emokevdg
1] TPOTOTOMGELS GO OTOIOVONTOTE GALO, UTOPEL VX
mpokarEGouy {Npid 6T CLGKELT), SUGAEITOVPYIX KUl
Kivéuvo yi Tnv acpdied oo,

H ocvokeon auti cuppopedveto mpog v Kowvotikn
Odnyio 2002/96/EC (avakvxhoon Hiextpikov xat
Hiektpovikov Eomhicuot ~WEEE). H odnyia av
UmOTEAEL TO EVPLAEIKO TARIGIO YU TV EMGTPOPT
Kol avakokioon tov Hiextpikav kat Hiektpovikaov
Tvokevov, .

Edav o ammepnrnpug mpoKerTOL v ypnoponoOsi
Tavtoypova pe eEomAopo mov Aettoupyel pe pic pn
NAEKTPIKNG evepyelng mnyh m.y. kovliva vypaepiov,
Bu wpémen 1) £Eodog Tov adpa (vromicon) va unv sivay
ueyohvtepn and 4Pa (4 x 107 bar).



INEPIEXOMENA

Zehida
[eprypagi] g cuoKevig 23
Odnyieg ypricemg TAnkTporoyiov 23
Kabapriopiog kar cuvtijpnon 24
Odnyoc evnipstOmong npofinuarmv 24
ALOOTAGEIS KON TEYVIKG JUPEKTIPIOTIKG 24
Mopeyopeve ofzoovap 25
Eykotdotaon 25
Diltpa evepyod avlpaxa 25

MNEPIICPA®H THE XYZKEYHX

A Hiextpoviké mhnktpoidylo yur v

EMAOYN NG TUXVTNTUS LOTEP KUl TOL
QOTIoROD Kabdg Kul EVOEIKTIKEG Avyvieg
hertovpyiag oe 006V,
B Metahhikd iltpo.
C Aopntipeg — 20 W (G-4).
Kdbeta  pubulopeva
otogeia (povydapa).

SluKOGUNTIKG

OAHTIEE XPHEEQX HAEKTPONIKOY
MNAHKTPOAOI'IOY
Me ta mhikTpe TaybnTag Ipocdiopilete Kat Tov ypovo
herrovpyiag.

EO#MGGO

Obovn évéedne Mpoypapperod/Aeitovpyiog Kat
Kopeopoh diltpov.

@

Enavapifpen évdains Kopeapot diktpaov,
AKOTTG TPOYPAPPATIGHOD EPOVOD Leitoupyicg.

DoTiopog.

O #* @ @

Meiwon Taydmjtec.
@ Avknon Tayimrog.

@ Awkdnmg évapéng i Miéng ketroupyiuc.

Oéaote ot Aeitovpyia Tov amoppopnTipa Aiya Aemtd mpv
Eexwviioete 10 payeipepa ote va dnpovpynbei pia
otabepi} por TOv Uépu OTOVS COANVES EEUYOYNG UTHMOV
APV EUQUVIGTODY Ol UTHOL  TOD  HOYELPEUOTOC.
ZEKIVAOVTUG UE TNV LK TayOTNTa, avePaote oTadukd
g toydmnres péypt exel mov embupeite. ‘Etou
SIEUKOADVETE TV AElTovpyin TOV pOTEP.
Otav teheidoete 10 payeipepa, a@iote oe Aeitovpyia
TOV AMOPPOPNTHPE Yia HEPIKA AEMT (3 pe 5 Aentd) yw
v Spiyouy ORol 0L oTHol and Tov owAnva eéodou.
‘Etol, epmodiletal v EmMOTPOPY TOV UTHGV Kol TV
ocudv atnv kowliva cug.

MPOIPAMMATIEMOE XPONOY AEITOYPIIAL
Evepyeiote o¢ akohoiBog:
1) Evepyomomnate Tov anoppogntipa Kol emAEETE TNV
TaydTN T Tov embupeite.
2) Ihécte 10 KOLUTL TOL TWPOYPUUUATIGUOD ¥POVOL
rertovpyiog (timer). Tote Ba apyicer vo avaPoofiver n
EVBEIEN TPOYPUUHATIGHOD ¥POVOL AEITOVPYiUG.
3) Emiécre tov embBopntd ypdvo mELOVTHG To KOLUMLL
aninong N peimong teyimnreg. Yadapyouvy 5 emAoyes tov
5 hemtiv (min.= 5 Agntd, max.= 45 Jemtd).
4) Otav emiééete Ty embount) Gpo Aetovpyiog Tou
GrOPPOPN TP, MEGTE SNV TO KODUTL TOL timer MoTE v
amofnkevtel n pubuon.
5) O anoppognmipog Bu otapatiost ™y Aettovpyia Tov
otav 1 pubuen mov £yete anobinkeboel TEPUATIGEL
Mnopeite v emiééete v evianikn tayvmra “H™ povo
yEwpokivta. Metd omd  mepimov 10 Aertd, o
amoppopnTipeg Ou “smotpéyel” oy Asitovpyin g
2ng TaydTnTUC.

Evdewctikég huyvieg kopeopob giktpov “F”

Bu mpéner va kabapilete o peteddakd giltpa, 6tav ot
EVOEIKTIKEG  ALyvieC KOpeopolh @iltpomyv  avayouy
(Prénete oy emopevn evomnta KAGAPIEMOL TQN
METAAAIKQN QIATPQN). Agod &yete kabapicer ta
Qiltpu Kol pe ofinoto Tov amoppopnTpU, MEGTE TO
kovumi “EmavapiBuon évéeiéng Kopeopot diktpav”
v 3 devtepdrenta Kut 1 evBEIKTIKN Avyvia Ou offost
avtopata. H evdektikn huyvia avtopdroc u ofifost.

23

GR



GR

KAGAPIZMOX KAI LYNTHPHEZH
Katd v ddpkeie g  gpyecicc ToOU
kKaOapropot kar g cvvnpnong, Pepoarwbeirte
OTL TIPOUVTUL Ol KUVOVIGHOI ac@uieiog mov
vapyouvv ot oeiida 22.

~ KAGAPIEMOE TOY ZQMATOE TOY

AITOPPO®HTHPA
- Av 0 anoppoenTpag Gug sival QTIOYHEVOS arnd
avoéeidmwto  yaivPu, o©ug  ovvVieTODHE Vi
¥pnolponomoete 181kd mpoiovia kabupiopon yia
avoleidmto yahvPa.
- Mnyv ¥pno1HomTOoLEITE CUPLATAKLY 1] ASLHVTIKG KOl
SwPpwtikd mpoidvia.
- L1eyvOoTE TOV anoppo@nTipe YP1CILOTOIMVTOS
£va mavi mov dev apnvet yvondt,
- Aev cuviotdrol ) ¥pfior] aTpokabuploToy.
Mo vo apopfoete To HETOAMKG @ilTpe amd T

KA@APIEMOE TON METAAIKQN ®IATPON

Béon tovug, méote shuYpag TIC £101KES huPég Kat
pufnéte ta.

Ta peroiiakd @iitpa pmopodv va kubopiotodv
“povialovtac” ta oe Leotd Sidhvpo vepod Kat
QLOETEPOL UMOPPUTTOVTIKOD PEXPL v SraivBodv Ta

A Kot petd EemiévovTag Ta KaTm amod ) Ppion,
N ypnoonowbviag edikd kabaprotikd Aimove.
Mnopolv emiong va mivboldv oe mhuviiplo
MATOV. Le qLTN TN TEPITTOCT) GLVIGTOVUE VO Td
tonobetiioete kabeta (Opbr) Yo va pnv mécouvy
EMAVO TOVG VIOAEIHHOTA QayNTOV.
To midowo oe mlvviipo mdtev pmopei vo
“novpioe” g petorlikéc em@dveisg, ympig
WOTOCO VI EMNPEACEL THV IKUVOTITA CLYKPATNGNG
atpov. Metd tov kabapiopd, agphote to va
CTEYVOGOLY KuAd Kut TEAog Tonobetiote Ta oTOV
amoppOPNTIPLL.

AAAATH AAMITTHPON OQTIEMOY
Axolovthiote Ty topakdte Sudiwacio (Enjpa 2):
- Apuipéate T peTudlkd @idtpa. Xohaphate (yopic va
Eefomoete teleime) Tig fideg mov ouyKpuToLY TO MAVER
(A), tomov EASY CLEAN, petukiviote mpocekTika to
TMAVEL TPOG TO MAGL KOl UQUIPESTE TO.
- Apupate ) faan (C) Ceprddvoviug g Pides (B).
- Alhagre tov omaopévoe/ kopévo hauntipe (D). H
eyt 1woyhe Tov Aapmtpa sivar 20 W (G-4).
- TorobBetiiote makt oty BEon Tov ™V Paon (C).
- TomoBetiote mai 1o maved EASYCLEAN (A).
Torobetiote Ta petarhika gpiltpa oty HEon Tove.

OAHI'OX ANTIMETQIIIZHE MIPOBAHMATQN
[pw kodéoete 10 e£ovo1080TNUEVO GEPPIS, KAVETE TOVG TUPUKATM EAEYYOUG:

Hpopinpa

Mbavi mtia

Awpbooy

Aev  Eyete
PEDUHATOC.
(0] aToppoPNTIpag [
lertovpyei.

oUVBESEL

™ Koh@dio | ZuvdEote 1o Kahoddo pedpatos.

H mpila dev £xe1 pedpa.

EréyEte v apila | Soxpdote dihn.

To piktpo éyer yepios Limn.

Kabapiote 1
piktpo.

OVTIKQ IU.O‘FI']OTE T0

H amoppégnon  dev  sivan
IKaVOTOUTIKY| M [
AROPPOPTI PUS KOUVIETUL

0O owhivag efayoyis £gEt Kamow
epmodio 1 £xet @ pukpotepn v 12 cm
N umbpyouv otabepic ypikies oty

AROPOKPUVETE TO EuROBI0 and TO
owhive efuyos, | OVIIKATUOTIOTE
pe drhov papditepo @ 12ecm @ 15

£Eobo, cm, 1 aVTIKUTaoToTE HE
ATVGOONEVES Ypikies oty £500.
‘Exouv Kogi. AVTIKUTUOTOTE TOUC,

O | pES dEV avd .
P Aempriipn Sen chifecy ‘Eyouv Eeprdmbel.

Epitre Tovs.

AIAXTAZEIZ KAI TEXNIKA XAPAKTHPIEZTIKA

Biene aelda 30.

H etopeic TEKA INDUSTRIAL S.A. dwmnpei o dikaiopo va kavel adhoyéc kai Siopbdoelg ota mpoiovia g
OTaV TO KPIVEL avayKaio, xopic va adratel T PuciKd TOUG YUPUKTIPIGTIKG.
H “Teka™ dev evfivetal yia Toyov Aabn 6To Keipevo Tmv 0d1yLdV ¥PGEMS TOL TPOEPYOVTHL O TNV UnOdOGT) 6TV

EdAnvix katd 11 Hetdgpoo.
24



IMTAPEXOMENA AZEEOYAP

1 Zvator 150/ 120 yihootdv.
Eoiprypa o SI0KOGUNTIKG KGAvppa
0V cwMva €650,
Empiypnata toixov.

Obvra (D8 x 40).

Meydha provrovia (&5 x 45).
Ovra (@6 x 30).

Meydha proviovia (G4 x 30).
Podéhec @6.4 x D 18.
Podéhec@6.4 x @12,

Bideg (3.9 x 13).

Bideg (M4 x 12).

Zuvdetipec.

(3=

[ SN 56 (S T S I O AT = )

[Ipw v egykatdotact TOL amoppoeNTIpd,
Peparwbzite 6T podviar o Kavoviopoi
Acqualeiug mov exktibevral on oehida 22.

[Na v Kekdtepn Suvath arodoon, | COARVEHOT
péoa oty kouliva dev mpémer va  eival
neprocotepo and TEZEZEPA METPA MHKOZ, va
v £xel mEPLoGOTEPO amd dvo ywvieg 90° kot 1
SapeTpog e, mpénel va givan Tovkayiotov @120
mm (1 @150 mm).

(Ewk. 1a, ogkida 31)

1) Bpeite kon tpumiote ta onpeio Yo vo tomobetioete
o oUne v otov Toiyo (P) (@8 x 40), (J) kau (E) (&6
x 30).

2) Xtepemote ta ompiypeta (O) otov  Toiyo
FpNooTOavVTaS TIS pokplEs fides (Q) (@5 x 45) ko ta
ompiyuata (H) ko (C)  ypnowponoidvias Tig paxpiés
Bidec (I) kar (D) (24 x 30) avrticTorya.

(Ewk. 1b, oghida 31)

3) TomoBetiote toug ouvdetipes (F) oto amiprypa (C).
4) Apmpécte Ta peTorhkd piltpa. Xahaphote (ywpig
vo Egfhdmoete tekeing) Tig Pidec mov cuykpatohv TO
naver. (Al19), tomov EASY CLEAN, petaxiwviorte
TMPOCEKTIKA TO TAVEA TPOS TO TAGL KUl WPUIPESTE TO.

5) Kpepdote tov amoppopnmipa ota ompiypata (O).
Ytofepomomiote T ocvokevn fddvovrag Ta peydia
umoviovie (L) (M4 x 12), 6mog paivetal oto oyiue 1b.
6) Evtomiote v Béon tov odna (R) (@8 x 40), and 1o
EGWTEPIKO TG CLOKEVTS.

7) Tpumiote Tov Toixo Kot tonobemote e ovma (R) (B8
x 40) ko ot ouvégeln ogilte Tig pakpiég Pideg (S) (A5
x 45) gpnoponordvrog o meipddw (T) (96,4 x Z18).
8) Tomobetiote 10 pEPog (B) edv 0 ecnTePIKOS GwAVEG
elayoyic eivar @120 mm (o cwinvag elaywyfg dev
MUPEYETUL PE TO TPOTOV).

9) Bakte tov e60TEPIKG cOAVE pE £va orykTipa (dev
napéyetn) oto (B) 1 otov cokijva sduywynis Tov potép,
avahoya e TV AEPITTOO.

10) Xohophote i fidec (U) (M4 x 25) ko younidote
TO SIOKOGUNTIKO @ovydpo. Mok tomobetnbei to
ECOTEPIKO  POVYAPO, KPEUACTE TU OLUKOGUNTIKG
POUYapa, CTEPEOVOVIUS TO JUUNAOTEPD OTO OTNPIYHQ
(H) omm¢ vmodEIKVOETAL GTNV AETTOUEPELL TNC EIKOVUG
1b.
11) Xpnowonoubvrag tig fides (U) (M4 x 25) otepemote
o SIOKOGUNTIKG QOVYdpe omd TO ECOTEPIKG NG
Kopvados, INKAGTE Kol GIEPEMCTE  TO (VD
SIUKOCUNTIKO Qovydpo ypnoipomoubvras g Pidec (G)
3,9 x 13).
12) TomoBetnote miht to maved EASYCLEAN (A19).
TomoBetiote to petoddikd piktpo oty Béon Toug.
®IATPA ENEPTOY ANOPAKA (ITPOAIPE TIKA )
Avtog 0 amoppognTipoc Eival GYENUGUEVOS Yo TV
eluymyn TOV aTUOV PECH TOV GOANVE EKTOS OTITION 1)
YO TV ETOVOKUKAOQOPIN TOUS HEGH ToV QIATpLV
evepyod avBpoka. Av dev eivar duvati) n efayoy Tov
aTpGY TPoS Ta £EM, UTOPEITE Vo TOMODETNGETE Ta pikTpo
evepyod avBpoKo PECH GTO GOUG TOL ATOPPOPTTHPL
MOTE Vo SECUEDOVIOL Ol OOMEC TOV UTHOV KoL v
anelevbepbdvetal 0 kabupog uépUs HESH GTO EGWTEPIKO
tov omtion. H mpoosbikn @iktpov evepyod avlpako
HEWBVEL TV GIOPPOPNTIKY IKAVOTNTA TNG CLGKEVIS.
Ta piktpa evepyold avlpaxa &xovv o duapkeia Long
petash 3 kou 6 pnvav, avikoya pe Tig ouvbnkes g
ypnons. Ta  @iktpa ovtd dev  mhévovial  0vTE
avoKuKAGvovTon Metd T ypion tovg, mPETEL v
avuikafhotdvrar.
(Ew. 3, oghida 31)
1) Apaupéote ta petariikd piktpa. Xalaphote (3opic
vo Eefdmoete tekeing) Tig Pides mov cuykpatodv TO
naved (K), tomov EASY CLEAN, pstoxivijote
MPOGEKTIKG TO TAVEA TPOC TO TAGL KUl pUIPECTE TO.
2) Apmpiéote ng Pidec (U) (M4 x 25) kot to
SekoounTika govydpa (H). Tomobemote 1o mudipado

(G) otov ppuyud (C).
3) TomoBetiote tov gpuyud (C) ot0 £0MTEPIKG TOL
FOUNAOTEPOD SLKOGUNTIKOD POVYEPOV (H)

ypnoionowdvtog Tig fideg (D) (M4 x 12). Kpepdote ta
Sakoounuika povydpu (H) ypnoonowviag tig Pideg
(U) (M4 x 25).

4) ToroBetmote o GiATpU OTIC SVO TAEVPEC TOV POTEP
npocupuoloviag Tig Tpines ota @iktpa va toupraouy
(A) pe mic vrodoyéc (B) tov omupotog TOv HOTEP.
lvpiote T OmmC Qoivetol ot0 Gyiue Y vao
KODUTLMOGOVV.

5) TomoBetiote mah to moveh EASYCLEAN (K).
ToroBetiote to petoddakd piitpa amv Béon Toue.

25

GR



Saymn Miisterimiz,

Yaptigimz segimden &tiirii sizi tebrik ederiz. En
kaliteli malzemelerle iiretilmis bu modern,
fonksiyonel ve pratik cihazin ihtiyaglarimzi
tamamiyla kargilayacagindan eminiz.

Cihazmizdan maksimum performansi alabilmeniz,
hatali kullanimlardan dolay: olusabilecek arizalar
dnlemeniz ve olusabilecek kiiciikk hatalarin
¢oziimiinii  saglamamiz  ig¢in  cihazin  ilk
kullanimindan &énce muhakkak bu kullanma
kilavuzunun her béliimiinii okuyunuz.

Her zaman basvurabileceginiz bir kaynak olmasi
ve davlumbazimizi sizden baskalarimin da
kullanmasi durumunda faydalanmalar ig¢in bu
kilavuzu saklaymiz.

Giivenlik Talimatlar:
« Liitfen bulundugunuz yerde gegerli olan

elektrik baglanti ve gaz tahliyesi (baca)
kurallarina dikkat ediniz.

« Kullanacaginiz  hattin  geriliminin  ve
frekansinin davlumbazin igindeki etikette yazih
olan degerlere uydugundan emin olunuz.

» Elektrik sebeke baglantisinin kesilmesi igin,
ana giris kablosu, sabitlenmis kablo sistemi ile
kablolama kurallarina uygun bi¢imde birlesti-
rilmelidir. GUC KABLOSUNUN DEGISMESI
GEREKEN HALLERDE BU DEGISIM
MUTLAKA TEKA YETKILI SERVISLERI
TARAFINDANYAPILMALIDIR.

* Cihazin baca baglantisinin, elektrikli olmayan
cihazlar tarafindan tiretilen dumanlarin ¢ikmasi
icin kullamlan bacalara yapilmamasma dikkat
ediniz (6rnek: kalorifer bacasi)

» Eger cihaz siirekli olarak elektrikli olmayan bir
enerji kaynagiyla beraber c¢alistirilacaksa,
(6rnegin bir gazh isitic1) odanin  yeterli
derecede havalandigindan emin olunuz.

* Davlumbazda ve filtrelerinde olusabilecek yag
birikimi bir yangin riski olusturabilecegi gibi
damlamaya da sebep olabilir. Bu birikimin
olusmamasi ig¢in davlumbazin filtreleri en
azindan ayda bir temizlenmelidir.

« Davlumbaz, alt tarafi elektrikli ocaklardan
minimum 50 em, gazh ocaklardan ise

26

minimum 65 cm. yukarida olacak sekilde
monte edilmelidir. KULLANACAGINIZ
OCAGIN URETICI FIRMASININ
MINIMUM  OLCU  ICIN  VERDIGI
TAVSIYELERE UYUNUZ.

Davlumbazin altindaki gazli ocaklan tizerinde
tencere yokken agik birakmayimz. Isinmn
yiikselmesiyle birlikte filtrelerde biriken yag
damlayabilir ya da alev alabilir.

Metal filtreler takili olmadan davlumbazin
altinda yemek pisirmeyiniz. (6rnegin filtreler
bulasik makinesinde yikanirken)

Davlumbazin altinda ates yakmayimz.

I¢ kismina herhangi bir miidahale yapilmadan
once cihazin elektrik baglantisim kesiniz.
(6rnek: i¢ kismin temizligi, tamir)

Davlumbazin i¢ temizligi yapilirken c¢ok
dikkatli olunmasimi ve eldiven kullanilmasin
tavsiye ederiz.

Davlumbazimiz ev kullamm igin ve sadece
yemek pisirme sirasinda olusabilecek gazlarin
arindirilmas: ve disariya atimi igin tasar-
lanmistir. Tehlikeli oabilecek baska amaclar
igin kullanimu sizin sorumlulugunuzdur. Uretici
firma cihazin hatali kullanimindan dolayi
olugabilecek tehlikelerle ilgili sorumluluk
kabul etmez.

Tamir ve bakim hizmetleri igin liitfen size
yakin bir "Teka Yetkili Servisi" ne
bagvurunuz ve ger¢ek Teka yedek pargalar
kullanimiz.  Yetkili olmayan servislerce
yapilacak tamir ve bakim hizmetleri arizalara
yol acgabilir, cihazimzi bozabilir ve sizi
tehlikeye sokabilir.

Elektrikli ve Elektronik Cihazlarin Atiklar
Yonetmeligine (WEEE) uygundur. Bu
yonetmelik Avrupa c¢apinda Elektrikli ve
Elektronik Cihazlarin Auklar ile ilgili gerekli-
likleri agiklar,

Davlumbazimizla ayni anda enerji kaynadi
elektrik olmayan baska cihazlar da ¢alisiyorsa
hava ¢ikis basinci 4 Pa (4 x 10 bar)’dan fazla
olmamahdir.



Icindekiler

Sayfa
Cihazin Tanim 27
Kullamim Talimatlari 27
Temizlik ve Bakim 28
Sorun Giderme 28
Olgiiler ve Ozellikler 28
Aksesuarlar 29
Montaj 29
Karbon Filtreler 29

Cihazin Tanim
A Cekis gilictinii, 151831 ve cihaz

edebilen kontrol paneli .
B Metal filtreler.
C Aydinlatma — 20W (G-4).
D, E Yiiksekligi ayarlanabilen bacalar.

agip
kapamay1 elektronik olarak kontrol

Kullanim Talimatlar:

Davlumbaz1 asagidaki sekilde gdriilen kontrolleri
kullanarak ¢alistirabilirsiniz.

|Ewen#|

5220

Program, ¢alisma ve filtre
doluluk gostergesi

=

Filtre doluluk sifirlama tusu
Zamanlayici

Isik

Cekisi Azaltma

Cekisi Artirma

©O® 0% @ o

A¢ma-Kapama

Cekis giliclinii artirmak igin pisirme islemine
baglamadan birka¢ dakika 6nce cihaz1 ¢alistir-
manizi Oneririz. Boylece buharlar olusmaya
bagladiginda siirekli ve sabit ¢ekis elde etmis
olursunuz.

Aymi sekilde, buhar ve kokulan tamamyla digar
atabilmek igin, pisirme islemi bittikten sonra
davlumbaz birkag dakika (3-5 dakika) daha agik
tutunuz. Bu islem yaglarin, dumanin ve kokularin
geri dénmesini engelleyecektir.

Calisma Siiresinin Programlanmasi

Asagidaki islemleri uygulayimz :

1) Davlumbazi agin ve istenilen hiz1 segin.

2) Zamanlayiciya basin. Program gostergesi yanip
sinmeye baslayacakuir.

3) Hiz artirma ve eksiltme diigmelerine basarak

istediginiz ¢ekis giliclini se¢iniz. Zamani S'er

dakikalik araliklarla ayarlayabilirsiniz (minimum 5,

maksimum 45 dakika).

Istediginiz zamam segince, hafizaya almak igin

zamanlayiciya tekrar basin.

5) Programlanan zamamn sonunda davlumbaz kendi
kendine kapanacaktir.

Yogun ¢ekis kademesi “H™ sadece manuel olarak

secilebilir ve galigmaya basladiktan yaklasik 10 dakika

sonra cihaz kendiliginden 2. kademeye diiser.

Filtre Doluluk Gostergesi “F”

4

—

Doluluk géstergesi yandign zaman filtreleri temizleyiniz.
(Bkz. sayfa 28, Filtrelerin Temizlenmesi).

Filtreleri temizledikten sonra davlumbaz kapah konumda
iken, “filtre sifirlama” diigmesine 3 saniye siireyle
basimiz. Filtre doluluk gisterge 15131 sonecektir,

27



Temizlik ve Bakim

Temizlik ve bakim islemlerini gerceklestirir-
ken, "Sayfa 26" deki giivenlik islemlerinin
yapildigindan emin olunuz.

Davlumbazin gévdesinin temizlenmesi

« Paslanmaz c¢elikten {iretilmis olan davlum-
bazimzi, bu malzeme igin 6zel olarak iiretilmis
temizlik maddeleriyle temizleyiniz.

+ Davlumbazi tily birakmayan
kurulayimz.

= Sterilizorler, karbonlu ¢elikten mamul {iriinler
ve klorid ihtiva eden benzeri maddelerin
paslanmaz ¢elikle temasi siyah golgelere,
paslanmaya ve kalici izlere neden olabilir.

+ Cihazimzi temizlemek i¢in buharl temizleyici-
ler kullanmayimz.

Metal filtrelerin temizlenmesi

bir bezle

Filtreleri yerlerinden ¢ikartmak igin, kilitlerine
hafifge bastirip ¢ekiniz.

Metal filtreler, yaglar eriyene kadar sicak su
icerisinde zararsiz bir deterjanla yikanarak ve
sonra durulanarak veya yaglar igin dzel tretilmis

temizlik malzemeleri kullamlarak temizlenebilir.
Ayrica bulasik makinesinde de yikanabilirler. Bu
durumda, filtrelerin, tizerlerine baska yiyecek
artiklar1 yapismamasi igin dik konulmalar tavsiye
edilir.

Bulasik makinesi i¢inde yikanmak filtrelerin
kararmasina sebep olabilir. Ama bu, filtrelerin yag
tutma kapasitesini etkilemez.

Temizlendikten sonra, kurumaya birakimz ve
sonra da yerlerine takiniz.

Ampullerin degistirilmesi

Sekil 2 (Sayfa 31)

Asagidaki islemleri uygulayimz :

» Metal filtreleri ¢ikartimz. “Easyclean™
panellerin (A) vidalarini tam olarak sékmeden
gevsetiniz ve panelleri yana dogru kaydirarak
yerlerinden gikariniz.

* (C) wvidalarim gevseterek
sokiintiz.

* Bozuk/ yanmis ampulu degistiriniz (D).
Maksimum ampul giicii 20 Wattr. (G-4).

* (C) destegini yerine takimz.

« Paneli (A) tekrar yerine takimz. Metal filtreleri
yerlerine takimz.

(B) destegini

Sorun Giderme

Teknik servisi ¢agirmadan dnce asagidaki kontrolleri yapimiz :

Sorun Olas! Sebep

Cozim

Davlumbaz galigmiyor

Elektrik hattinda akim yoktur

Cihazin kablosu elektrige bagh degildir.

Kabloyu prize takiniz

Elektrik olup clmadigina bakimz

Daviumbaz yeterince gekmiyor ya da
titriyor

Filtreler yagla dolmusgtur

Hava gikig yolunda tikanma vardir

Metal ya da karbon filtreleri degigtirin / temizleyin

Tikanan yeri agin

Isik yanmiyor Ampuller yanmigtir

Ampuller gev®emi®tir

Ampull degigtirin

Ampul sikin

Olgiiler ve Ozellikler

Bakiniz Sayfa 30.

TEKA INDUSTRIAL S.A. gerekli gordiigii taktirde {triinlerinde, {iriiniin genel karakterini

degistirmeden, degisiklik yapma hakkini sakl tutar.

28



Aksesuarlar
1 adet 150/ 120 mm rediiksiyon
2 adet Baca destegi.
2 adet Duvar destegi.
6 adet Diibel (08 x 40).
6 adet Uzun vida (@5 x 45).
4 adet Diibel (06 x 30).
4 adet Uzun vida (04 x 30).
2 adet 6.4 x 018, pul.
2 adet ?6.4 x @12, pul.
2 adet Vida (3.9 x 13).
4 adet Vida (04 x 12).
2 adet Klips.
KURULUM

Montaj islemlerini gerceklestirirken, "Sayfa
26" daki giivenlik islemlerinin yapildifindan
emin olunuz.

Optimum performans saglamak igin, ¢ikis borusu
4 metreden uzun olmamali, boruda 2 taneden fazla
90° lik doniis (dirsek) olmamali ve borunun ¢api
en az 120 mm. olmahdir.

Sekil 1a (Sayfa 31)

1) (P) (@8 x 40), (J) ve (E) (@6 x 30) diibellerinin
yerlerini isaretleyip deliniz.

2)(Q) (O5 x 45) uzun vidalarim kullanarak (O)
parcasini, (I) and (D) (@4 x 30) uzun vidalarim

kullanarak (H) ve (C) pargalarim duvara
sabitleyin.

Sekil 1b (Sayfa 31)

3) (F) klipslerini (C) destegine takimz.

4) Metal filtreleri ¢ikartimz. “Easyclean”

panellerin (A19) vidalarini tam olarak sékmeden
gevsetiniz ve panelleri yana dogru kaydirarak
yerlerinden gikariniz.

5) (O) baglantsim vzun (L) (M4 x 12) vidalarim
kullanarak davlumbazin gévdesine takimz, sekil
1b (Sayfa 31).

6) Davlumbazin i¢ kismim takip ederek (R) (@8 x
40) diibellerinin yerlerini isaretleyiniz.

7) Duvari matkap ile deldiktan sonra,(R)
diibellerini uygun sekilde koyun ve (T) (96,4 x

©18) pullar ile (S) (@5 x 45) uzun vidalarim
yerlestirin.

8) Eger i¢ hortum (pakete dahil degildir) 120 mm.
capinda ise (B) pargasini takiniz.

9) I¢ hortumu duruma gore (B) pargasina ya da
motorun ¢ikisina kelepge ile (pakete dahil
degildir) tutturunuz.

10) (U) (M4 x 25) vidalarimi gevsetin.i¢ boru yer-
lestirildikten sonra bacayi takin.Detaylarn Sekil
1b’de goriildiigii gibi (H) pargasi daha asag: takihr.
11) Bacayi davlumbaza (U) (M4 x 25) vidalan ile
sabitledikten sonra (G) (03,9 x 13) vidalan ile st
boruyu yerlestirin.

12) Paneli (A19) tekrar yerine takimiz. Metal
filtreleri yerlerine takimz.

AKTIF KARBON FiLTRELER(OPSIYONEL)

Disariya baca ile gaz c¢ikist  olanaksizsa,
davlumbaz karbon filtreler ile havayr temizlemek
ve ortama geri vermek i¢in kullamlabilir.

Karbon filtrelerin kullanma sekline gore
degisebilen, 3 ila 6 ay arasi dmiirleri vardir. Bu
filtreler temizlenemez ya da tekrar kullanilamaz.
Faydali &mirleri bittigi zaman degistirilmeleri
gerekir.

Sekil 3 (Sayfa 31)

1) Metal filtreleri ¢ikartimiz.  “Easyclean™
panellerin (K) vidalarini tam olarak sékmeden
gevsetiniz ve panelleri yana dogru kaydirarak
yerlerinden gikariniz.

2) (U) (M4 x 25) vidalari ve (H) bacasim
soktitkten sonra (C) pargasimi  (G) vida
somunlarina uygun duruma getirin.

3) (D) (M4 x 12) vidalari ile (H) alt bacasinin igine
(C) pargasim yerlestirin. (U) (M4 x 25) vidalar ile
(H) bacasim takin.

4) Filtreleri motorun yatay c¢ekis kismina,
filtrelerdeki (A) delikleri motordaki (B)
pivotlarimin iizerine gelecek sekilde yerlestiriniz
ve sekilde gosterildigi yonde ¢eviriniz.

5) Paneli (K) tekrar yerine takimz. Metal filtreleri
yerlerine takimz.

29



A B

TEKA INDUSTRIAL S.A
SANTANDER (E)

@ &:gM TI::::t1NA_DE CORATIVA
’ igo ico |
eKa Serial No.:

No.KATATKEMHE:

ELECT:*
POTENCLA NOM. LAMPARAS:
LAMPS POWER:
PUISSANCE LAMPES:
NENNLEISTUNG HALOGENLAMPEN;
POTENCIA NOMINAL DAS LAMPADAS:
METTETH ONOMAZTH IEXIE

«E

700/900/1100| 500 |622|952 a0 330 27¢
Codigo Técnico | Tension (V) de red | Frecuencia (Hz) de red P‘::i:jar::f;rde Caudal de aspiracién
$ 220 - 240 50/ 60 2x20/* *m%h
* 110 -127 60 2x20/* *m%h
* Ver Placa de Caracteristicas en el interior de la campana.
CODE NR. | NETZSPANNUNG (V) | FREQUENZ (Hz) “;E:'.\T::;lfrzsmg%‘)‘;‘ LEISTUNG
> 220 — 240 50/ 60 2x20/* *m%h

* Siehe Typenschild im Innern der Dunstabzughauben.

Technical Code | Network Tension (V) | Network Frequency (Hz) | Lights/ Motor Power (W) | Motor Volume
* 220 — 240 50/ 60 2x20/* *m%h
* 110 — 127 60 2x20/* *m¥%h

* Check Characteristics label inside the hood.

Puissance (W) Lumiéres/

Code Technique | Tension (V) Réseau | Fréquence (Hz) Réseau Motewr Débit Moteur
* 220 - 240 50/ 60 2x20/* *m%h
* Voir Plaque des Caractéristiques a l'intérieur de la hotte.
P T & Poténcia (W) =
Codigo Técnico | Tensiio (V) Da Rede | Frequéncia (Hz) Da Rede Das Luzes / Motor Caudal De Aspiracio
* 220 - 240 50/ 60 2x20/* *m¥%h
* Vér Placa de caracteristicas no interior do exhaustor.
Tegvikos Kodikds | Taon Awktoov (V) | Zvygvimnra Awktiov (Hz) | Toyic @drog/ Motép (W) | Amddoon Motép
* 220 - 240 50/ 60 2x20/* *m%h
* EréyEre v Tupnéha Teyvikdv XoepaktnploTikov HEGH GTOV GIOPPOPNTHPLL.
Teknik Kodu Hat Gerilimi (V) Hat Frekans: (Hz) Isik/ Motor Giicii (W) Ceki” Giicil
. 220 — 240 50/ 60 2x20/* *m% h

* Cihazin iizerindeki teknik dzellikler etiketini kontrol ediniz.

30




31



TEKA GROUP

COUNTRY CITY COMPANY CC PHONE FAX
Austria Wien KUPPERSBUSCH GES.M.B.H. 43 1-86680-0 1 - 86680-72
Belgium Zellik B.V.B.A. KUPPERSBUSCH S.PR.L. 32 2466-8740 2466-7687
Chile Santiago de Chile TEKA CHILE S.A. 56 2-273.19.45 2-273.10.88
China Shanghai TEKA CHINA LTD. 86 21-6236-2375 21-6236-2379
Czech Republic ~ Brno TEKA-CZ, S.R.O. 42 05-4921-0478 05-4921 - 0479
France Saint Ouen 'Auméne  TEKA FRANCE SAS 33 0820072747 0134301596
Greece Athens TEKAHELLAS A.E. 30 210-9760283 210-9712725
Hungary Budapest TEKA HUNGARY KFT. 36 1-354-21-10 1-354-21-15
Indonesia Jakarta P.T. TEKA BUANA 62 21-39052-74 21-39052-79
Malaysia Kuala Lumpur TEKA KUCHENTECHNIK

(MALAYSIA) SDN. BHD. 60 3-762.01.600 3-762.01.626
Mexico Mexico D.F. TEKA MEXICANA S.A. DE C.V. 52 555-762.04.90 555-762.05.17
Poland Pruszkéw TEKA POLSKA SP. ZO.0. 48 22-738.32.80 22-738.32.89
Portugal llhavo TEKA PORTUGUESA LTDA. 351 234-32.95.00 234-32.54.57
Russia Moscow TEKARUS LLC 7 095-737-4689  095-737-4690
Singapore Singapore TEKA SINGAPORE PTE LTD. 65 6-73-42415 6-73-46881
Thailand Bangkok TEKA (THAILAND) CO. LTD. 66 2-5164954 2-9021484
The Netherlands  Zoetermeer TEKAB.V. 31 79-345.15.89 79-345.15.84
Turkey Istanbul TEKATEKNIK MUTFAK A.S. 90 212-274.61.04 212-274.56.86
U. K. Abingdon TEKA PRODUCTS (UK) LTD. 44 1235-86.19.16 1235-83.51.07
USA. Tampa TEKA USA, INC. 1 800-419-9344  813-228-8604
Venezuela Caracas TEKA ANDINA, S.A. 58 212-291.2821 212-291.28.25

Mod. 4.960 - Gréficas Alhambra

Teka Industrial, S.A.

Cajo, 17

39011 Santander (Spain)
Tel.: 34 - 942 - 35 50 50
Fax: 34 - 942 - 34 76 94
http://www.teka.net

CKQ

KUCHENTECHNIK

Teka Kiichentechnik GmbH

Sechsheldener Str. 122
35708 Haiger (Germany)
Tel.: 49 - 2771 - 8141-0
Fax: 49 - 2771 - 8141-10
http://www.teka.net

JKP 06/03



